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Subcourse Overview

This is the tenth in a series of 10 Russian workbooks written for
linguists in the United States armed forces.

This workbook is at proficiency Level 2+. It contains newspaper
articles on topics ranging from SDI to ethnic tensions in the USSR.
It also includes segments from the Warsaw Pact.

This is the last workbook in this series and you will find the reading
strategies developed in the exercises of this book continue building
on the basic strategies of skimming for main ideas and scanning for
specific information. In addition, you will find exercises designed
to help you develop such strategies as

«distinguishing main ideas from supporting details,
erecognizing cohesive elements within a text,

«deciding on the best summary of a paragraph,
sidentifying different attitudes and undertones in a text,
«distinguishing between facts and opinion.
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Administrative Instructions
1. Number of units in this subcourse: Five.

2. Materials needed in addition to this booklet are a #2 pencil, an
ACCP Examination Response Sheet and a preaddressed envelope.

3. Supervisory requirements: None.

Grading and Certification Instructions
E ination:

This subcourse contains a multiple-choice examination covering the
material contained in these units. After studying the units and
working through the exercises, complete the examination. Mark your
‘answers in the subcourse booklet; then transfer them to the ACCP
Examination Response Sheet. Completely black out the lettered oval
which corresponds to your selection (A, B, C, or D). Use a #2 lead
pencil to mark your responses. When you have completed the
Examination Response Sheet, mail it in the preaddressed envelope
provided. Your examination score will be returned to you. A score of
75 or above is passing. Ten credit hours will be awarded for
successful completion of this examination.

This publication is to be used primarily in support of training
military personnel as part of the Defense Language Nonresident
Program. Topics in the areas of politics, international relations,
mores, etc., which may be considered controversial from some
points of view are sometimes included in language training for
DLIFLC students, since military personnel may find themselves in
positions where clear understanding of conversations or written
material of this nature will be essential to their mission. The
presence of controversial statements—whether real or apparent—in
DLIFLC materials should not be construed as representing the
opinions of the writers, the Defense Language Institute or the
Department of Defense.

In DLI publications, the words "he," "him," and "his" denote both
masculine and feminine genders. This statement does not apply to
translations of foreign texts.
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Unit 46—The Warsaw Pact

In the late 1940s and early 1950s the Soviet Union believed that the
military and political security of Eastern Europe was threatened.
Several events, such as the formation of NATO in 1949, its growth,
and the proliferation of nuclear weapons, reinforced this belief. In
May, 1955, military and Communist Party leaders of seven countries
met in Warsaw, Poland, and formed a counterweight to NATO, to be
known as the Warsaw Pact Organization.

Articles in the Soviet Press on this subject use politicized language.
You may recognize such stock phrases as imperialist aggression,
peaceloving states, and brotherly socialist countries.

Background Note ; A
Leaders of the following countries signed the Treaty of Friendship,
Cooperation, and Mutual Aid (the formal title of the Warsaw Pact).

The list includes the countries' normal Russian abbreviations.

HapoaHas Pecnybnmka Bonrapus HPB
BeHrepckas HapoaHas PecrnyBnuka BHP
FrepMaHckaa deMokpaTHUdeckas Pecnybnuka rap
Monbckan HapoaHas Pecnybnmka NHP
CoumnanucTuveckas PecnySnmMka PyMbiHKS CPP

Cotoz CoBeTckx COUMANMUCTUYE CKUX Pecnybnuk CCCpP
Yexocnosaukas CoUMANMUCTUYECKAS Pecnybnuka MCCP

Exercise 1 Text A has no photographs, headline, or chapter
titte to lead you into the text. The following is a
suggested method for approaching it.

1. Scan Text A for only those things that leap out at you—words
beginning with capital letters, numbers and the things they
modify. Make a list of them and give English equivalents.
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Text A

Co3ganve B mae 1955 roga Opranusayuv Bap-
wasckoro [florosopa, o6beauHAIoWEnR HblHe esBpo-
NENCKWE COUNANTUCTUHECKUE CTPaHbl C HaceneHu-
em okono 385 munnnoHos 4Yenosek, ObiNO cBoe-
BPEMEHHO ¥ wumeno 6onbwoe MexAayHapogHoe
3HadveHne. MOoulHbIA IKOHOMUYECKUH, MOpanbHO-
NONUTUHECKUA WU BOEHHLIW NOTeHuuan OpaTcKux
CTpaK No3BONUN UM CO3[4aTb HAAEXHYID CUCTEMY
KOMNEKTUBHOW 3aUMThl COUMANUCTUYECKUX 3aBO-
€BaHM CBOMX HAPOAR0B OT arpeccumn umnepuanu-
CTUHECKUX fepxas, 00beKTUBHO CnocobCTBYS TeM
cambiM cTabunusayum MexayHapogHbiX OTHOwe-
HURK, yKpenneHwio mupa B Espone u Ha Bcen
nnavxere.

B npoBegeHwn CKOOPAMHUPOBAHHOW BHEWHEN
NOMUTUKK  COYUANUCTUHECKUX CTPaH, HanpasneH-
HOW Ha ofecnedeHue mMnpa u 6€30NacHOCTH Hapo-
A0B, onpejensiowas pons npuHagnexur OpraHu-
3aywu Bapwasckoro [loroBopa v ee BbiClieMy
pyxosoasweMy oprady —[1oNuTU4ECKOMY  KOH-
CynbTaTUBHOMY KomMuTeTy. 3a npowegwwue 30 ner
MKK paspabotan u BHeC B NOBecTKy AHR eBpo-
NENCKOM ¥“ MUPOBOW MONUTUKU NPEANOXEHUR,
NPaKkTU4eCKWU OXBaTbIBAIOWME BCE rMasHbIe MEXAY-~
HapogHbie npobnembl coBpeMmeHHOCTH. B ueHTpe
ero BHMMaHWs NOCTOAHHO HaxOANTCH Takue BONPO-
col, Kak 6opbba 3a NpeaoTBpaUEHUe HOBOW MUPO-
BOW BOWMHbI U KONNEKTUBHYID 6e30nacHoCTb B
Espone, 3awuTa 3aBoesanuin coynanuama, ykpen-
neHve efuHCTBA M CNNOYEHHOCTU coyvanucTuqe-
CKUX CTpaH, noanepka Hapofos, 60plOWMxcs 3a
cBOI0 cBO6GOAY N HE3AaBMCUMMOCTb.
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2. Look over the list you just made for what it tells you about Text
A's organization and possible topics. Using that list as an
outline, write what you think Text A's main idea will be.

Exercise 2

Paragraph 1

Now that you have a sketchy outline of its topics,
skim Text A to get the gist of both paragraphs. You
will find a definite political slant to the writer's
attitude and the vocabulary, but this need not
interfere with your understanding of the issues. In
English, write a summary of each paragraph in the
spaces provided.

Paragraph 2
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Exercise 3 Read the questions below, scan Text A for the
answers, and then circle the correct answers.

1. Text A mentions three factors that enabled the socialist
countries to establish a reliable system of collective security.
Which one is NOT mentioned?

a. Economic potential
b. Technological superiority
c. Moral-political strength
d. Military potential

2. Who or what developed and brought up proposals dealing with the
major issues of the day?

a. The socialist countries

b. The Political Consultative Committee

c. East European defense ministers

d. The heads of Warsaw Pact military delegations

3. According to Text A, which of the following issues is NOT the
focus of the Warsaw Pact's attention?

a. Achieving parity in military forces and equipment with NATO
b. Maintaining peace

c. Support for people fighting for freedom and independence

d. Collective security in Europe

4. How does Text A describe the Political Consultative Committee's
role?

a. As a planning role

b. As a behind-the-scenes role
c. As a leading role

d. As an advisory role
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Structure of the Warsaw Pact

WARSAW PACT HEADQUARTERS
Political Consultative Committee
Party first (or general) secretaries,

heads of government

-

1
Council of
Foreign Ministers

Military Council

Chairman and 2 other members
are Soviet; 1 officer from each
Council of E. European member country

Defense Ministers
H 1
] [ )
o = o Joint Command b -

Soviet members include Commander-
in-chief, 1st Deputy Commander and
Deputy Commander for Air Defense
Forces. Other members are deputy
ministers of national defense.

Staff of the Joint Armed
Forces

]
1 |
l Technical Council' l Training I
] ]
Groups of Soviet Forces [ National Forces |

Gemany  Northern Central Southern
(Poland) (Czechoslovakia) (Hungary)

Chain of command
==~== Policy and consultation

Exercise 4 Some vocabulary work with Text B should help you
identify important terms. Read the words or
phrases on the page which follows. Scan Text B to
find the Russian equivalents and write them in the
appropriate spaces in the nominative case
(dictionary) form.
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Text B

B r@Are moctosHHo moIdepEEBaeTcd OPAHUANHA:IBHOE GOI0EeHRe ¢ ToM, 9To Doo-
pyxesrnle Cuan CCCP crpodTca @ pa3BMBawTCE B COOTBETCTBHH ¢ BOeHHOX 0RTPHHON
CoBetcRoro rocylapcTBa, EOTOpas OTpaXaer OPAPOTY, OCOGEHHOCTH A OPeEMYMecTBa CO-
LA3THCTHILCROTG 00MecTBeEHOro B TrOCYIapCTBEeHHAOr0 CTPos H HocH? cyrybo obopoma-
1eabHyw HanpasiaesHocts. o Boscraryugm CCCP Cosercen® Cow3s moxer secta 1o.1bK0
oGoporNTebENe BoHHH: B caydae Hanalegns Ha CCCP mam meobxolmMocTs BHIOIHeHBA
MeXIYHAPOIBWX 06A3aTeIbCTB 00 B3AHMAOH 000poHe OT arpeccHH.

B ony6anxosanuof B Mae 1987 r. poeumo& toxTpwme Oprammzanmm Bapmascsoro
Jcrosopa @3n0ZesH HOBbie B3rAAIN HA CTPOATEIBCTBO COUNAIACTAYECEHX apumd A Opod-
TeMn ODel0TBpaMeHAs BOHAW. [1aBdod 3alaged soopyxennwx cma OB cramosures
pMeHHO OpeloTBpauleHMe BoHBH — KaK alepHod, Tak B obwunofi. 310 y=Ze moayumxo
otpazenne B cTpouteabctBe CoBercRux Boopyxenunx Can, B seensoy uckyccrse. Ochos-
bEIM cOoco0oM AX IeficTBMA BBI1BHralNTCA HBe HACTYDATeldbHNE, 3 000pPOHATeJIbHHE ome-
paLHA. :

1. military doctrine

type of government

defensive wars

defense against aggression

prevention of war

nuclear

offensive operations

® N o 0o & 0N

defensive operations

Exercise 5 Skim Text B, bearing in mind the terms you have
just identified. In the spaces below, answer in
English the following questions about the text's
main ideas.

1. According to Text B, what did the Warsaw Pact's Military
Doctrine of 1987 set forth?
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2. What is the stated goal of the Warsaw Pact?

3. Within the Warsaw Pact, what is the basic strategy for achieving
the main goal of the 1987 military doctrine?

Text B, taken from a recent review of a book about the Soviet armed
forces since World War I, contrasts with Text C. The subject
matter is the same, but the time period and style differ. Text C was
written in 1955—it is the preamble to the Warsaw Pact itself.

Exercise 6 Each paragraph of Text C has a single point to make.
Parallel grammatical construction of each
paragraph reflects the parallel linking of the ideas.
Identifying this type of construction should help
make the text more manageable and accessible.

1. The use of verb forms ending in -5 and -acb at the beginning of
each paragraph refers all the ideas or actions back to the same
subject. Scan the first line or two of each paragraph of Text C on
the following page, looking for verbs with this ending You should
find four. Write these in Russian and their English equivalents in
the spaces provided below Text C. ‘
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Text C

Jorosapusaloumecs CTOPOHb!,

BHOBL NOATBEpPXAAR CBOE CTpeM-
neHne K CO3[4aHNID CWUCTeMbl KOfl-
nexTneHoW 6@3onacHocTH B EBpone,
OCHOBaHHOW Ha y4acTuu B He#w BCeX
©BPONeNCKNX FOCYAapCTB, He3asu-
CMMO OT Mx OGWECTBEHHOro M rocy-

AapCTBEHHOTO CTPOA, YTO NO3BONM- 4

no 6bi obvefuHNTE WX yCUIMA B
nHTepecax obecnedeHns mupa B
Espone,

yuUHTLIBAS BMECTE C TeM nonoxe-
Hue, KOTOpoe co3ananoce 8 Espone
B peaynsTate parndukaummu napux-
CKMX cofnaweHun, npegycmartpusa-
1owux obpasosaHne HOBOW BOEHHOW
rpynnMpoBkM B BuAe «3anagHoes-
PONEncKoro coto3a» € ydacTuem pe-
munmMTapuayemon 3anagHom epma-
HUM ¥ C BrNoHeHneM ee 8 Cesepo-
arnaHTudeckun 6noK, 4TO ycunuea-
€T ONnacHOCTb HOBOW BOWHLI M CO3-
AaeT yrpo3ly HayvoHanoHon 6e3-
ONacHOCTH  MUPONIOGUBLIX  rocy-
A3apCTs,

3 Oyay4m ybexpaewni B TOM, YTO B

ITHX yCNoBMAX muponobnenie rocy-
fAapcTBa EBponb A0MKHBI NPUHATL
HeoOxoguMbie Mepbl Ans obecnede-
HUs csoen 6e30nacHOCTU ¥ B MHTEe-
pecax nopgepxawust wMupa B
Espone,

PYKOBOACTBYSRCb LENsMu M NpuH-
ymnamyu Ycrasa Oprannsaym O0bv-
e aMHEeHHbIX Hauwi,

8 MHTEpecax AansHewwero ykpen-
fieHnA 1 pa3suTnA APyxOul, COTPYA-
HA4ECTBA M B3aWMHOW NOMOWM B
COOTBETCTBMM C NpvHUMNAMK yBa-
MEHUSA HE3aBUCHMOCTU K CyBepeHu-
Teta rocy4apcrts, a takKe HeBme-
warenpCTBa B MX BHYTpeHHWe aena,

6 pewuny 3aKNIOYUTb HACTORLYNA

Hdorosop © Apyxbe, coTpyAHWude-
CTBE W B3aMMHOW NOMOLLM...

(M3 npeambynnl Bapwascxoro florosopa)

2. Now look in line 1 of Text C for the common subject of all the
actions you have just noted. Write it in Russian and give the
English translation. The grammatical parallelism, using verb
forms ending in -8 and -sicb to introduce each topic, links the
actions of the subject in what is simply a long list. This
construction is typical of treaty and pact preambles, as well as
other legal documents.
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Exercise 7 Read the following key phrases which are
translations of Russian phrases from Text C. Then
scan the text to find in which paragraph(s) each
phrase appears. Beside the number for each
paragraph, write the letters of any of the following
phrases which occur in that paragraph.

system of collective security

friendship, cooperation, and mutual aid
remilitarized West Germany

ratification of the Paris agreements

in the interests of securing peace in Europe
guided by the goals and principles of the U.N. Charter
noninterference in [other states'] internal affairs
threat to national security of peace-loving states
regardiess of social or governmental type

take essential measures to achieve their security
respect for independence and sovereignty

XU TQ e o00oe

Paragraph 1

PUSSI———————— e

Paragraph 2

Paragraph 3

Paragraph 4

Paragraph 5

et e e et e s e e

Paragraph 6
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Exercise 8 Answer the following questions.

1. Skim paragraph 2 and summarize its main topic in one sentence.

2. From where do Warsaw Pact countries see a threat?

3. What are three different ways in which Text C paragraph 2 refers
to the NATO alliance? Write them in Russian on the lines below.

a.

b.

C.

Exercise 9 Text D concerns the Warsaw Pact commander. Read
the headline, then proceed to part 1 of this

exercise.

Text D
Ha3nauen

TJIaBHOKOMaHAYIOUIUM

INpasurenscrea rOCYRapcTsB -—- HEHHbLIMH BOODYXEHHLIMH CHIAMKU

10

yuacth#xos Bapuasckoro Joroso-
pa ynoenetsopuiu npockby Map-
mana Coserckoro Cowosa Kynuko-
sa B. I. 06 ocBoGoxnaenuu ero B
CBA3N C Ha3HAYeHHEM reRepaAbHbIM
HHCIIEKTOPOM MPYNIbl MEHEPANbHbIX
MHCIIEKTOpOB MunucrepcTaa 0b0-
poHnl CCCP OT ROMKHOCTH FAaBs-
HoKoMauaywomero O6vepnHeHHbI-
MH BOODYKEHHHIMH CHNIGMH FOCY-
Napcrs — yuacTH#xo Bapwas-
cxoro Jlorosopa M OTMEYAlOT ero
sacnyrs B o0NacTH Pa3BHTHA ap-
Mu# TOCYA2PCTB — YYacTHHKOB
Bapmasckoro Jlorosopa,

Tlo cornacoBaHKI0O Mexay mnpa-
BUTEALCTBAMHK rocyRapcrs —
yvacTH#koB Bapimrasckoro Jloropo-
pa riaBHokoMaHRylougsM Ob6beny-

rocyapcTs — ydyacThuKoB Bap-
masckoro  Jlorosopa  Ha3HaueH
nepBblii  SaMECTHTENb MMHHCTPa
obopount CCCP renepan apMum
Nywes 1. T,

. Fexepan apmuu Jiymes Ilerp
Teopruesnd 1923 ropa pofaenus,
pycckuit, unen KIICC ¢ 1951 ro-
na. Oxonuun BoenHylo axameMHO

- OpOHeTAaHKOBHIX BOHCK M BoehHyio

akanemuio leHepanbhoro wrraba.
MNocnenosatensHo KoMaHzioBan
TIONKOM, JAMBM3MeH, apMHed, BOH-
CKaMK pAAa BOEHHLIX OKPYroB,
I'pynno#i coperckux Bofick B Iep-
mabuu, C 1986 rona — mnepsbiif
3aMeCTHTEeRb MUHMCTpPa obopoHul
CCCP. Tepo# Coserckoro Coio3a.
Jenyrar  Bepxobtoro CoBera
CCCP. Mnen UK KIICC.
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1. You have read the article headline. What might Text D cover?
Write your answer in English in the space provided.

2. Now skim the paragraphs of Text D to get the gist of each one.
Write brief phrases summarizing the points or topics covered in
the three paragraphs. Write your answers in English in the spaces
provided.

Paragraph 1

Paragraph 2

Paragraph 3

Exercise 10 To confirm your understanding of Text D, answer
the following questions in English in the spaces
below. Scan the text as necessary.

1. What prompted the resignation of Marshal Kulikov?

11
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2. How was Marshal Kulikov's successor chosen?

3. What was General Lushev's military responsibility in Germany?

4. What recent connection did General Lushev have with the Ministry

of Defense?

Key Vocabulary %_

B COOTBETCTBUM C
B3AQMMHbDLIA
B3rnsAa

BHe@CTHU HA MNOBeCTKY AHSA

3apoeBaHMNA counanmsMa

sacnyra
HagoeXHAA cucreMmda
HA3HAa4aTb
HeBMeLWAaTeNnbcTBO
HblHe

obecneveHue
obvreanHsIOWUMA
onpeaensowmnn
OTpPaXAaTb
OXBATbHIBAIOLWMA
noaTsepXAaATb
Nno3BosinTb
NpeaoTBpAlleHMe
NnpeAaycMaTpmBAalo WM
npenmywecTBo
CKOOP ANHUPOBAHHDbIM
cnocobcTBOBATH
CMAOYEeHHOCTDb
cyrybo

ybexaeH

12

corresponding to, in line with

mutual, reciprocal

view, opinion

to bring to the fore, to put on
the agenda

achievements of socialism

merit

reliable system

to appoint, name, to set

non-intervention

now, at present

safeguarding

which unites

which determines

to reflect

including

to confirm

to allow, permit

prevention, avoidance

which stipulates

advantage

coordinated

to promote or favor (something)

solidarity, cohesion
especially
convinced
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yBaxeHue respect

yrposa threat

ycunumeaTtb to strengthen, increase

y4acTHUK participant

yuYUTHIBATD to consider, take into account

Acronyms and Abbreviations

OOH (OpraHmnsauma United Nations Organization
ObbveaAMHeHHbIX Hauwui)

OBA (OpraHunsaumsa Warsaw Pact Organization
Bapwasckoro fgorosopa)

NKK (Monuntmdeckunii Political Consultative
KOHCYbTATUBHbIA Committee (of the
KoMurteT) Warsaw Pact)

13
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Unit 47—NATO

The membership of NATO—the North Atlantic Treaty Organization—
includes countries on both sides of the Atlantic Ocean. Some
members (e.g., Norway, Greece, Germany, and Turkey) actually share
land borders with Warsaw Pact countries. In the Soviet media,
references to NATO, to its joint military exercises, weaponry, and
strategic aims, tend to be critical, hostile, and always politically
charged. In the years since NATO's founding, the Soviet bloc's
reaction has moderated somewhat.

Exercise 1 The first exercise deals with both vocabulary and
the general tone of Soviet media coverage. The
following typical headlines which appeared on one
page of KpacHas ase3Aaa have been taken apart.
Your task is to recombine them so they make sense.
Match the parts by writing the appropriate letter
for an item from column B to the word(s) in column
A. No heading is more than three words long. There
is an extra item in column B.

A B
1. _____ YaapHbia a. ambuumm
2. ____ NoTeHuunan b. wacTokonom
3. ___ Kak ckonaumBanm C. darpeccumn
4. MUAMTAPKUCTCKUNE d. Kynak mMnepmranmMaMd
5. _____ 3a pakeTHbIM e. Bnok

f. rpynnupoBKa

If you look now at all five headlines, you will see how consistent the
tone is. This use of language conveys strong negative opinion and
emphasizes aggressiveness.

15



Reading Workbook 10, Unit 47

Exercise 2

1. Circle the word that best describes this type of article.

16

biography
chronology
history
analysis
essay

caoowe

space provided.

Skim Text A and proceed through Exercise 2.

Text A

1949 rop — co3nan arpec-
cusumi  Cesepoatnantuueckus
6nox (HATO), s cocras xortopo-
ro sownn CLUA, Benuxobpura-
Hua, Opanuus, Hranus, bens-
rus, Hugepnanas, Jlioxcembypr,
Danun, Hopserus, Moprtyranus,
Kanapa u Ucnangun (s 1966 ro-
Ay ®panuma - orxazanace 07
YUYACTHR B BOGHHON OPraHM3auun
6noka, oCTaBWMCh, OR/HAKO, &
pamkax HATO).

1952 rog — x HATO npn-
coegunnnuce Typuma u peyun
(» 1974 roay Tpeuns orkasanace
OT yqACTHA B BOEHHOM OPTranm-
3syun HATO, wo ocranaces s
G6noxe),

1955 ron — s cocras HATO
sowna OPF,

1982 roq — & Ceaepoarnan-
THueCckOMy 6noKy npucoeAMMN-
nece Mcnauua.

Takum obpazom, s HATO sxo-
AT ceropnus 16 rocypapcrs —
BCE OCHMOBMBIO MMNBPHAAWCTHUS-
CKM@ AEPIKBBLI MWPA, 38 WCKNIO-
yennem Anonun, Ouu 3aHMMB-
10T TePPHTOPMIO CBbie 22 MM,
K8. Km C Hacenewnem Gonee

—'550 MmN, [ ] 14

. Having skimmed Text A, choose the most likely title for it from
those you recombined in Exercise 1.

Write it in Russian in the
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3. Consider the second word in the headline. If you don't recognize
it, check the Key Vocabulary. By using it, the writer tries to

make NATO seem stronger than it is.

indicate NATO's warlike, inflexible attitude.
make NATO seem like a shaky, flimsy structure.
convey a reasonable, moderate Soviet attitude.

Qaoop

Exercise 3 Some of the following statements based on Text A
are true, some are false. Mark the correct box.

T F
1. France joined NATO in 1966. a Qa
2. Greece changed its status in NATO in 1974. a Q
3. West Germany was one of the the original members. Q4
4. NATO now has 16 members. QQa
5. Spain has been a member since 1952. a a
Exercise 4 The Soviet Press writes extensively about NATO

and the Warsaw Pact, often comparing the two.

1. What would you expect to find in a typical comparison? Write
your ideas for likely topics in English on the lines below.

17
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Text B is an excerpt from a review of a book which traces the
development of the Soviet armed forces since World War II. Skim
the text and look for comparisons of the kind you just wrote.

Text B

Cuant obutero nasuavenus s CCCP rakme coBepuleHCTBYIOTCS B COOTBETCTBHH ¢ Ma-
baMn o0opoHLl cTpaHbl # mojlepxanng naputera. HATO u Bapwasckuii Horosop nmerwor
npuMepHo oIMHAKOBYH olliyio 9HCAEHHOCTh AHYHOIO COCTABA I PABHOE KOJHYECTBO apPTHJ-
aepunt. OB]l meckousko npesocxogur HATO B GpoHetankoBofi texnmke u HcrpebmTensx-
nepexparyikax. Oxnako HATO coxpansger npenMymiecTBo mo umeny §oeroToBBIX RMBH3HA,
GPOTHBUOTANKOBLIM cpeficTBaM, ucTpelurenaM-GomGapiupoBmukam. B ienom xe, HecMoTpa
Ha Pasnnuue B OPraHH3aLHOHHBIX CTDYKTYDax M cuiiax ofiero HasHaYeHHs, HAARIO NDH-
MEPHOE DaBloBECHE.

Onuir pocaeBoeHBoro crpontennctsa CoBercknax Boopyxenuux Cua cBRAeTeNbCTBYET
0 TOM, YTO TeXHHYeCEafd OCHANIEHHOCTh SBASETCA OAHHM W3 TaBHHX MAaTEPHaAbHEX (ak-
t0pos BRI (oeBoro Morymectsa. Iloa BamABBeM HayaBo-Texumseckoro mporpecca B CIUA
a HATO npernymecTBeBRHo B BOPHBHX HEASX HelpePhiBHO BO3PacTaeT OrHeBaA Molb &
JAMbLBOCTh AeficTBHA BOOpyXehHs ® BoeBHoH TYeXHHER, YBeNHUHBAeTc8 KONHTECTBO €€
BHAOB, BAeT YcKopeHHoe ofBoBaeHme cpeAcTB 6opnbbi, ycnozuserca B3aHMocBA3b MeXEAY
BACTYDaTeAbELIME B 0GOPOAHTEAbELIMA CHCTeMaMH BOOPYXeHHE, pacTyT 2BTOMATH3ALRSA
» ONTHEMAaAbBOCTH BX GoeBoro mpHMeHeBMA. UenoBedecTBo CTOHMT mepeX Yrpo3ok coajannd
eme Gomee paspyMBTeAbHWX, 49eM PakKeTHo-SAepHOe ODYXEHe, CPeACTB MACCOBOr0 YHRUTO-
ReRHA.

2. Write a brief summary in English of the main idea of paragraphs 1
and 2 of Text B.

Paragraph 1

Paragraph 2
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Exercise 5 According to Text B, advances in science and
technology affect both NATO and the Warsaw Pact.
Scan Text B for answers to the following questions.
Write your answers in English below.

1. How do these advances affect firepower and range of weapons?

2. In light of these advances, what happens to the relationship
between offensive and defensive weapons systems?

3. What is humanity facing as a result of these advances?

Exercise 6 Complete the following statements about Text B by
choosing the best option and circling your choice.

1. The armed fdrces of the USSR are improving in order to fulfill
new plans

a. for taking the strategic initiative.

b. to upgrade material factors in their military capability.
c. for defense of the country and maintenance of parity.

d. to counter improvements in US forces.

2. Relative to the Warsaw Pact, NATO has more of all the following
EXCEPT \

fighter-bombers.
military personnel.
battle-ready divisions.
anti-tank weapons.

aoowe
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According to Text B, the Warsaw Pact forces have about equal
numbers of

a. artillery.

b. tactical rockets.
c. light tanks.

d. armored tanks.

According to Text B, when it comes to aircraft, Warsaw Pact
forces have an edge over NATO in

a. heavy transport aircraft.

b. fighter-interceptors.

c. helicopters.

d. reconnaisance and early warning planes.

According to Text B, the overall balance of forces and equipment
favors

NATO.

neither side.

the Warsaw Pact.

NATO in equipment (except tanks), the Warsaw Pact in ground
forces.

aoow

Exercise 7 Text C reports on a meeting. To find out what

1.

20

topics were discussed at the meeting, use the
following strategy.

Skim the first few lines or the first sentence of each paragraph,
looking for the topic of discussion. List these topic phrases or
words below in English. The heading—BcTpeua B
MuHUcTepcTBe obopoHb CCCP—gives you a start in
determining what is going on.
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Text C

Huxorpa eute ABepx coBer-
CKOrOo BOEHHOI'0 BEAOMCTBA He
PacKpHIBAJHCh TNepex  CTONb
NpeACTABHTENbHOR JAeserauues
napiaaMeHTapHes CTPAH — 4je-
nos HATO. 5 uions cocroanace
BCTpeYa KaHAHAATA B YJeHh
Hoaur6ropo LIK KIICC, mMunu-
crpa oGoponnt CCCP 1. T. flso-
Ba ¢ peneranueit Cemepoar-
NAHTHYeCKOR accambaen Bo
raaBe ¢ ee npeaceAaTeneM
IL. Daddu.

Munuctp undopMHpoBasx ro-
cTeli 06 oGOpOMMTEsBHON BOEH-
HOR ROKTpPHHE, KOTOpONl pyKo-
BOACTBYIOTCH BOODYIKEeHHbIE
cuant  CoBerckoro Copo3za u
crpan Bapmasckoro Horomopa.
ITopuepkuBasocs, uyro Coser-
ckuit Colos, npuuumas opHo-
CTOPOHHHE MepHl 10 COKpaLle-
HHIO  BOOPYMEHHHX CHX X
O6LIYHBIX BOOpYMeRMit, cTpe-
MHTCA NPHAARTH MM HCKJIOYH-
TenbHo o6GopoHHTeABHME xa-
paKrep. '

Tosopa 06 o6muKEIX BoOpY-
KEHMAX, MHHHCTD YKa3an Ha
HEJIOTHYHOCTE TOTO, YTO HEKO.
TOphle NOJNHTHYECKHE XeATe N
Ha 3anaje, ¢ OAHOH CTOPOKSHI,
yTBepxaaoT, yro CCCP «cBepx-
BOODYXKeH*, & ¢ APYyroit — ro-
BOPAT © TOM, YTO ¢ Hawei
cTpaHoli HAXO BECTH NeperoBo-
Pl ¢ NMO3HUHH . cHABL. Beio
NMOAYEPKHYTO, YTO XOCTHXKEHMe
RoroBopenHocreit B Bexme Bo3-
MOXHO JHIUb HR B3AHMONPHEM-
neMoit  ocuose., Heobxoaumo
npuaepxuBatThca Ganauca M-
Tepecon MeXny Bapuasckum
Horopopom u HATO. Ormeua.
nock, 4yro CCCP puicrynaer 3a
TO, 4TOGH YpDOBeHhR BOOpYKe-
Huil GBI KAaK MOXHO  HHXKe,
K60 veM MeHbBIIE ODYMHA, TeM
Gonbue 6€30NMACHOCTH.

BunmanHe yyacTHHKOB BCTpe-
up 6bl0 TakxKe obpaieHo Ha
T0, 4ro Comerckuiti Cowa =m-
CTYnaer NpOTHB  pPAa3IMelleHMA

OPYXHA B KOCMHUYECKOM npocr- .

paHCTBe, 3a NPEAOTBPAILEHHe
MHJIHTADH3AIHK KOocMoca,

MHHHCTD BHIpaana MHeHHe,
¥TO HAMETHBUIAACA B MNocael-
Hee BpEeMA TEHAEHUMA K PACIIM-
PeHHIO  JAHAJNOra N0 BOEHHON
NHRHH Mexay Bocroxom u 3a.-
NagoM B CJAYYae CBOEro XRaJb-
Hefillero pasBUTH® MoXKer mno-
3BOJSNTL OOGLUMMHKH YCHAHAMMU
ofecneyuTs MHDP He TOABKO HbI-
HelIHeMY NOKOJEHHKIO, HO M HA&-
WHM MOTOMKAM,

Iapaamenrapun Cesepoar-
NaHTHYeCKolt accambaen mbic-
Kajzanyu TOYRY 3peHus, qro
AAepHOE OpYy)XKHe B mNOCAeZHHe
40 ser noasoasno npexorapa-
THTh BoilHy B Empone u vyro
HeT HEO6XOAMMOCTH YHHYTO-
¥AThb ero nosHocthio. Takyio
NO3HUHIO R He PA3ALA, CKA.
sax XK. T. fzos. Bnoane saxo-
HOMEpHO BO3HHKAET  BoOmpocC:
€CIH OHO HHKOMY He YrpoXxa-
eT, TOrja 3aveM ero HMern?

Paragraph 1

Paragraph 2

Paragraph 3

Paragraph 4

Paragraph 5

Paragraph 6
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Exercise 8 Now scan Text C for answers to the following
questions. Write your answers in English in the
spaces provided.

1. According to Text C, what is unusual about the meeting
described?

2. According to the article, how will the unilateral measures taken
by the USSR affect the nature of its armed forces?

3. What does Defense Minister Yazov say about NATO's and the
Warsaw Pact's interests?

4. What does the USSR have to say about the overall levels of
armaments?
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Exercise 9 To confirm your understanding of the main ideas of
Text C, read the following statements. Some are
true, some are false. Mark the appropriate box.

T

1. Defense Minister Yazov met with a NATO delegation.

2. According to Text C, some people in NATO claim that
the USSR is overarmed relative to NATO.

3. Defense Minister Yazov agreed that nuclear weapons
helped deter war over the last 40 years.

4. The USSR opposes basing weapons in space.
5. The meeting did not discuss the militarization of space.

6. Minister Yazov noted some logical inconsistencies in
NATO's statements and positions.

L 000 0O O
Lo o000 o 4dm

Exercise 10 As a summary exercise, pulling together the main
points of Text C, the following sentences require
you to fill in the blanks with the most appropriate
words or phrases in Russian. Do this without
looking back at the text.

1. CocTosinach 5 monsa BCTpeua aeneraumm
NnpeactaButTenet cTpaH-yneHos HATO ¢
CCCP.

2. YMQCTHWMKN BCTPeUM obpaTUNM BHUMAHME HA HOBYIO
AOKTpUHY BoopyxeHHbIX

Cun CoBeTckoro Corwoa3aa.

3. Haao coxpaHaTb BANAHC MHTepeCcoB MexAay
2
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TenaeHums K pacmmpeHwo

armMocopepe.

Key Vocabulary %’

BeﬂOMCTBO

".aaanmonpuemnemun

BO3HWUKATH
sakoHoMepHo

KynaK

MorywecTso

HaNMuo
HeNornvHocCTD
oTKQ3aTbCA
oaHocTOpOHHME Mepbl
oCHAlEeHHOCTD

napureT
noavepknsaTbCA
MOTOMKM
npeeocxoAnTd
npewmymeCTseHHo
npmnepmnaa'rbcﬂ
papHoBecue
aznuune
pasMetieHne
paMKH
cemaeTenpcTsoBaTh

ckonaumsaTb
COBepmeHCTBOBOTbCﬂ
cokpaweHne

yaapHbif

yacTtokon

24

B KOCMMHGCKOM I"IpOCTpGHCTBe.

mexay BOCTOKOM W 3anaao

CCCP rotvos nonTH HA sanpelieHne  —

[.lMCKYCCMM no BOGHHOV! AnHun

M cnocobcTByeT — —

department

mutually acceptable

to come into existence

naturally

fist

power, might

on hand, available

illogical nature

to refuse

unilateral measures

equipment level, being
equipped

parity

to be emphasized

descendants

to exceed, surpass

primarily

to hold, adhere to

balance, equilibrium

distinction, difference

placing

limits

to testify 1o, bear
witness 10

to scrape together

to be improving (oneself)

reduction, curtailment

shock (as in "shock troops”)

fence, palisade
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Unit 48—Reduction of Military Forces

Over the past several years one of the major topics of discussion
in the military has been the reduction of forces. This unit includes
articles on topics such as the withdrawal of troops from foreign
countries, the closing of bases, and the reduction of weapons in
foreign countries.

Exercise 1

1. As you read the texts in this unit you will first want to find out
what countries are involved. Read the title and the subtitle of
Text A and then write below in English which two countries are
involved.

a.

Text A

06HapoAOBaH TIpaQHK YacTHYHOTO
' BbIBOAQ COBETCKHX BOMCK

3asenenue munucrpa obopouw Benzpuu

BYNANEHIT. (CoS. xopp. «Ma-

‘BecThin). Mumucrp  obopomwm -

Benrepckoii Hapopmoii Pecmy6-
JMKH TeHepan-nonkosHuk <. Kap~
naru obuaponoBan ofumit rpa-
UK  YacTHYHOrO BNBOAA CO-
BETCKRX BOHCK ,C TEpPHTOpPMY
Beurpwy, npepycMOTpeHHOro CoO-
BETCKKMH MUPHBLIMM MHWI{MATHEA-
MU, O KOTOpHIX 3aABHA B CBOEM
BLICTYNNICHUH B . Hbeio-Hopke
M. C. ropbaves. '

Mo cnosam muHMCTpPa, KaK ne-
penaer areHtctso MTU, nepsuik
aran Buisosa Gyger 3asepuwen s
nepsoii nonoswxe 1989 ropa. 3a
3TO BPEMA TEPPUTOPHIO BeHrpuu
NOKHHET COBETCKaA TaHKOBam AM-
BU3KA, PaCKBapTHPOBaHHAR A0 Ha-
CTOAIEro MOMEHTAa B pailoHe ro-

pona BecnpeM, W yueOruii Taw-
KOBBIt nonx.

Bo sTopoil nonosuue 1983 ropa
BHIBOJ{ COBETCKHX BOMHCKMX Ya-
creil Gyner npoponmes.

Ha Bonpoc arextcrsa MTH,

¥YTO ctaner ¢ ocsobogusummmen

nocne BLIBORA Ka3apMaMW, a3po-
ApOMaMH, Pa3NWYKOro POAa noMe-
WEHWAMH, MUHHCTD 32ABMA, NTO
OHM nepeiiny'r B BEACHKE BeEHrep-
CKUX MeCTHbiX BAacTeW. TIpOH3IQH-
ReT, N0 CROBaM MMHUCTPa, X He-
KOTOpDaA MNeperpynnyposKa coseT-
CKHX BOWCK BHYTpH CTpaHh. Co-
KpamarsCa M NepeAuCAouupo-
8aThCA GyAYT npenMymwecTsexHo
COBETCKME HACTH, HaXOAAUMECH B
3anafHbix paiioHax BeHrpuu,

®. IYKBSTHOB, '

25



"* Reading Workbook 10, Unit 48

b. Now decide which of the countries is withdrawing its troops.
You can probably answer this question based on your knowledge
of the world, but if you are not able to, then scan Text A for
the information. Write your answer in English.

2 a. According to the titte, the withdrawal of troops is

a. permanent.
b. temporary.
c. full.

d. partial.

b. Which word led to your conclusion? Write it below in Russian.

3. Text A mentions two dates. These dates are related to factual
information about the withdrawal of troops. What general
statement does the text make about each of these dates? Write
your answers in English.

a. The first half of 1989

b. The second half of 1989

4. Which troops does the text explicitly state will be leaving?
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Exercise 2 In this exercise you will be asked to give
information about what happened before the
withdrawal of troops and what will happen after
the withdrawal of troops.

1. What did Gorbachev and Karpati announce? Write your answers in
English.

a. Karpati

b. Gorbachev

2. Find in Text A the Russian equivalent for the words after the
withdrawal. Write your answer below.

3. What will happen to the vacated areas after withdrawal? Write
your answer in English.

4. Find the Russian equivalents in Text A for the following key
vocabulary words. You will see this vocabulary in other articles
in this unit.

a. will leave

b. will be completed

c. to be reduced
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Exercise 3

1. Text B has a topic similar to that of Text A. Read the title to

Text B below.

Based on this title and on the information you extracted from
Text A, write in English what you think Text B will be about. Do

BosBpaweHune Aaomoii

not worry if your idea is very general.

Text B

Bosspawenue gomoii

XOWMKMHH, 21. (TACC). «Ilpu-
PETCTBYEM 'BOWHOB, BbINOJIHHMBLIKX
HHTEPHaUMOHANbHLIK foar B Gpar-
cko# Kamnyuuun, «Pomguua mper
CBOMX CBLIHOB» — TaKMMM NO3YHra-
MH, 3 TaKKe HAUMOHANBHLIMM (a-
ramu CPB yxpailiexbl YIuusl afiMu-
HHUCTPATHBHBLIX LEHTPOB NPOBHHLMI
TakHmb, JIOHrTXan,  AH3fHT,
Kbetiamwr, 3anafi-Kowrym. [ecar-
KM TBICHY MX )HTenei
npuGLIBINE CETORHA cioka #3 HPK
NMORpasfienelus IIECTH BbETHaM-
CKMX MBIt obmell  wmcnen-
HocTbi0 1B ThicAy wuenoBex, Tem
CaMbIM 3asepllieH O4epefHOH, cefib-
MOK N0 CYETY HacTHYHBLIA BHLIEOJ
BbETHAMCKHX BOHCK #3 Kammywmt
B COOTBETCTEI C JOTOBOpEH-
HOCTbI0 MemNY TNpPaBATEeNbCTBAMHA
CPB u HPK. Bcero 3a nmepuog c
WOHR no  feKabpn TeppHTOpMO

Kamnyuun noxuuymu 50 Thicay
BbETHAMCKHX BOEHHOCHYIKAWIMX.

PoavHa BbICOKO OUeHMBaeT Balll
PaTHBUE TPYAR, ckasan, obpaugasacsh
K BOMHaM-MHTEPHaLMOHATHCTAM Ha
mutHire B TalHMHE, KoMaHqyo-
i cefibMBIM BOEHHLIM OKPYIOM
reHepan-neiiteHanT Hryen Txe
Buiir.  BoerHaMckie pobpomosib-
Ibl, OTMETHI OH, BHECIH BECOMBIHA
BKIaj B JieNn0 CTPOMTENHCTBA M
SamyTH HapopgHo# Kamnyumsu. Omnm
NPOJEMOHCTPHUPOBANH  MYIKECTEO,
BOHHCKOE YMEHHe M BHICOKYIO Goe-
TOTOBHOCTD.

TouyHO B COOTBeTCTBMM C 06A32-
Te/IbCTBOM  3aBEPUIMB  OYEPEIHOH
BEIBOA  foGpoBonbues, BbeTHaM
NOATBEP/MA  NOCAEAOBATENBHOCTD
CBOENO Kypca Ha JOCTIKeHMe mO-
HTHIECKOrO YPerymapoBasua
KamIiryumitcrodi npobnemsl.
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2. Skim Text B to see if your prediction was confirmed. As you are
skimming, find out which two countries are involved and what
dddn specific military situation is occurring. Write your answers
below in English.

a. Countries

b. Military situation

Exercise 4 You have worked with main ideas and supporting
details in previous workbooks. This exercise will
help you continue your work in this area.

1. Below are several sentences which are paraphrased versions of
sentences in Text B. Decide which one best expresses the main
topic of the text. Circle the correct letter.

a. Yanubl AAMUHMUCTPATUBHBIX LLeHTPOB NP OBUMHUMMA
TaAHWHB, oHrT™>XAaM, AH38Hr, KbeH3aHr, 3anai-KoHTyM
YKpdWweHbl HALMoHANbHbIMK oaaramm CPB.

b. flecaTkn ThicAy xuUTener BcTpeTUNU NpubbiBlwMeE
noAapa3AeneHMs WeCcTU BbeTHAMCKUX ANBUIUIA.

c. CeabMOMr YACTUYUHDBIA BbIBOA BbeTHAMCKMX BOMCK M3
Kamnyyumn saeeplieH B COOTBETCTBUU €
AOroBOpPeHHOCTbIO MeX Ay npasuTenbcTeaMm CPB 1 HPK.

d. 350 TbhICAY BbeTHAMCKMX BOEHHOCAYXAWMNX NOKUNHYNAU
TeppuTOopMmio Kamnyumm 3d nepmoa ¢ MNKOHA No ﬂeKClE)pb.
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o Listed below are some of the points mentioned in Text B.
Underneath you will find words, phrases, and sentences which
provide supporting details for these points. Decide which points
each supporting detail addresses, then write the correct number
in the space provided. Each point has more than one supporting

detail listed.

a ___ YkpaweHue ynuilbl

b. ____ BbBoAa BOMCK

C. _____ PaTHbX TpyA BbeTHAMCKKX
BOEeHHOCAYXaWmX

1. MposABAEHNE MYXeCTBA, BOMHCKOIO yMeHUA U
BbiCOKOM POeroTOBHOCTHU

2. HaumnoHanbHble gaarmn CPB

3. BecoMbilt BKMaa B A4eno cTpouTesnbcTsa U 3awimTl
HapoaHon Kamny4unum

4. 50 TbiCHY BbeTHAMCKMX BOEHHOCAYXAWMX NOKUHY AN
TeppuTopuio Kamnyumu.

5. MNocnenoBATENbHOCTb Kypcd HA AOCTUXEHUE
AOAUTUMECKOTO YPeryIMPOBAHMS KAMMNYyUYUHACKON
npobnembl

6. Slo3yHrn: PoAaMHa AeT CBOUX CbiHOB, NpunBeTCTBYEM
BOMHOB, BbINOAHUBLWMX MHTEPHAUMOHANbHBIA A0AT B
BpaTckom Kamryumm

7. an6bIBLIJI/|e noapasaesnieHNAa WecTun BbeTHAMCKWNX
AVBU3UM oble YMCNeHHOCTbIO 18 TbhicaAd YenoBeK
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Grammar Note

At this point in your reading you should begin to look at what kind of
information a text contains. In general, information is either
factual or subjective. You can see the difference in the following
simple examples: John left the room. John is a good man. The first
sentence is a fact because if John was in the room and now is not,
everyone would agree that he had left. The second sentence,
however, depends on the speaker's perception of what makes a good
man. People have different standards by which to judge the
goodness of a man. This sentence is an opinion.

Exercise 5

1. Read the sentences from Text B below, then decide if they
express a fact or an opinion. Check the correct box.

Fact Opinion

a. TeM caMbiM 3aBeplWeH ovepeaHOM, M| Q
CeAbMOI MO CUeTY UACTHMNHDBIM BbIBOA
BbeTHAMCKMX BOMCK M3 KaMmnydmm B
COOTBETCTBMU C AOIrOBOPEHHOCTbIO
MeX ay npasmtenbcteamum CPB w1 HPK.

b. Bcero 3a nepuoa ¢ mioHA No aekabpb Q Q
- TePpPUTOPUIO KAMAYYMK NOKUHYNK S50
THiCAY BbETHAMCKMUX BOEHHOCAYX ALLMX.

C. POAMHA BbICOKO OLUEHMBAET BALW PATHLIM Q Q
TpyA.
d. AoBpoBObLIbI BHECAM BECOMbIM BKNAA Q O

B AenNo CTPOUTENDCTBA M 3ALUMTDI
HapoaHoOHW KaMnyumu.

€. OHM NPOAEMOHCTPUPOBANK MYKECTBO, Q Q

BOUHCKOE YMEHUE U BLICOKYIO
BoeroToBHOCTS.
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_ Having read Text B quite throughly by now, you should be able to

decide what the author's attitude towards Vietnam presence in
Cambodia is. Read the words below and decide which one most
accurately portrays his attitude.

a. Admiration
b. Criticism
c. Indifference

d. Dismay

Exercise 6 You will be asked to give the basic information
contained in Text C. This information is similar to
what you read in Texts A and B. Scan Text C and
fill in the chart below in English.

Countries involved Equipment withdrawn Location of

withdrawal
Text C

Yittn, utobbl OCTATHCSA

MALPHA, T. (Co6. xopp- «Ilpas- cBoefi BOSRYmHOH H MopcKo# 6asel
as). Tlocne TOro, Kak Mcnanug 4 B Pore . (MPOBHHIIKA Kanuc). fio’
CUIA npuuum K corjialieHHIo 0 BhI: noBojly 9THX coobmiennit Tlenra-
soze ¢ Boe:Ho# Gaasl B ToppexoH- TroH oTMamuuBanca. Y BoT Ha AuAX
ne-Appoce 72 aMepHKaHCKMX CaMo- w3 BaWMHPTOHRZ NPHUUIO Gonee
netos F-16, opuusanbibie AMia ¥ B YeM ybenurenpHoe noATEEPIKAE-
ManpHae, ¥ B BalIKHITOHE B OfMH  HHE namepenuit flenrarona: KO-
roNoC SamBAANM, UTO HE cyuie- Murer 1O AenaM  BOOPYIKEHHBIX
CTBYeT HMKAaKMKX MIaHOB pacupe-  Cull nanathbl npencranwrenei’: ono-
WA APYFMX BOGHHBIX ofbexTos  Gpun TWPOEKT 3aKoHa O BbIene-
CHIA Ha MCraHcKoi TEpPUTOPHH. HHK B HOBOM (pUHaHCOBOM TORY,
Mexpay TEM HCHaHCKaR neyaTh He  HAWMBAIOUEMCH B oxrabpe, 400 Tl
paa mucana o ToM, 4TO BawuKrToH, CAY AOANAPOB Ha MOAEPHU3AIHIO
norepas Toppexox, naMepe «Bo3- Oassl B Pore.

mecTuT> yillepb»  pacumpenueM B. YEPHbDILLEB.
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Exercise 7 The main purpose of Text C is not so much to relay
the facts of the military situation involved as to
express the author's opinion of the situation. The
purpose of this exercise is to help you decide on
the author's intent in writing the article.

1. Read the title of Text C. The title suggests that the situation is

humorous.
ironic.
dangerous.
reasonable.

coop

2. The second sentence of Text C begins with the words MexAay
TeM. You are familiar with the fact that transition words can
help you to anticipate what will come next, and to understand
how sentences relate to one another within a text. If MexXay
TeM means meanwhile, what kind of information do you think will
follow? Circle the correct letter.

a. contradictory.
b. co-occurring.
c. conclusive.

3. Now let us look at the factual information presented in Text C.
Below are several incomplete sentences. Complete the sentences
by scanning Text C for the information needed. Write your
completions in English.

a. Both sides announced after the agreement that

b. The Spanish press has written that Washington intends to

c. The Pentagon's response to the Spanish press has been

d. The Senate Armed Services Committee has approved
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4. As you have noticed, the author of this text leads the reader
through a set of facts and then makes an assumption about these
facts. Find in Text C the Russian phrase which means a more
convincing confirmation of the Pentagon's intentions is coming
from Washington.. Write it below.

Exercise 8 Text D begins with a short introductory paragraph
which contains some background information to the
text.

1. Read the introductory paragraph which is about negotiations and
then provide the following information in English.

a. Which countries are involved?

b. Where are the negotiations taking place?

c. What is the central issue of the negotiations?

Text D

neouﬂbl. (CoS. xopp. «M3pecTnii»). B A¢mnax madanca owepen-

AMEPHKAHO-TPETECKNX MEPerosopos 0 COTPYRHWiecTSe B
noen::z" 551!&61’!, yenTpamsasii sonpoc — Sypymee 6a3 ClIA B
Tpepue.
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2. The title of Text D is in the form of a question and informs you of
what Text D will be about. Now read the title and make a

prediction as to the remaining contents of Text D. Write it in
English.

Text D |
Ocrtanytca an 6asvl B I'peyuu?

Skim Text D to see if your prediction is confirmed and then proceed
to Exercise 9.

Text D continued

21 pexalps npomnoro roga uc-
TeK CPOK 3aK/NIOYEHHOTO paHee
COTNalleHHa, B COOTBETCTBHH C
KOTOpHM C 3TOW faThl = Havanca
orcyer 17-mMecavMHOro nepmopaa, B
‘fedene KOTOpPOro MNEHTaroHos-
‘tke Gasn fomKHM ObiTh BHIBE-
‘ReHbl C TIpeYEecKoil  TeppUTODHK.
.. NeperoBopsl O HMX NpogomKa-
1orca. U ubmewnui, 14-# nc cye-
TY payHj, SBHO He nociaepuuit. Oc-
MOBHOH pbidar, McCnomb3yembik Ba-
'HINKTTOHOM ANA OKa3aHuA [asne-

HHA Ha napTHepa,— BOEHHad no-
Momb Fpenuu, oKasawwe KOTOPOM
obycnoBnuBaeTcs COXpaHeHueM
6a3, a TaK)ke Mrpa Ha rpeko-Ty-
PELKUX NPOTHBOPEUUAX.

I'pedecKkas CTOPOHa B NpWHIMNE
He BO3pa)aeT NPOTHB 3aKMOvEeHUs
HOBOTo CornailleHuf C aMepuKaH-
HaMu npu ycnosuu coBniopnewms
CBOMX «H3UMOHANbHHIX  WHTEpe-
coB». Ilpy aTom Adunbl noxdepKu-
BalOT, MTO neperosoph JAOMKHH
BECTHCh «C HYNA», TO €cTb Ha OC-

HOBE NEPEecMOTPa BCEro KOMMMEK-
€2 aMePUKaHO-rpevyecKUx OTHOIle-
WA B BoeHHoX obract¥, a ke
MPOCTOro NpogfieHus Craporo co-
FRalenns C HEeIHAYUTENbHHIMM M3~
MeHEeHUAMU, Kax 3toro nobusalot-
cn CUIA.

Kpome Toro, Ipeuns obo3naum-
12 CBOIO NO3ULKIO B TOM, YTO Ka-
CaeTCA NUMKBUAALMM ONHOTO M3 Ye-
THipex KpynHeHwuX BOeHHHX 06b-
ekroB CIUIA — pacnonoxennoii B
OXpecTHOCTAX AuH 6a3n amepu-
KaHCKux BBC 3AnnueuKoH. Kak 3a-
SBUN B MHTEDBbLIO HaKaHYHe HbiHell-
REro payHja neperosopos MHUHMCTD
wHocTpauubix pnen K. Tanynsac,
«peyb UAeT 0 NONHOM NpeKpalleHHK

OYHRUMOHUPOBAHUA 3TOH Ga3bi»,
Baza Jnauunkon ne Gyper nepe-
BoAMTHCA  KyfAa-mibGo B ppyroe
Mecto Ipeunn, a 6yner umenno
JMKBUNPOBaHa, Pa3bACHHN AONON-
HHTENbHO rpevecKMd mMPEeACTaBK-
TenRb.

Koraa e neperoBopn o Ga3sax
BOHZYT B 3aBepiliaomiy ¢a3y?
BONbLIIKHCTBO  MHPOPMUPOBAKHBIX
Habriopatened 8 Adunax cKno-
HAOTCA K TOMY, YTO He panee
WIOHA, Korpa ® Ppeuum nporayr
napnaMenTckve BbiGOpH. Buicxa-
3BBaeTCA  NpeAnoiodKeHue, NTO
onpefenenHblii UMNYNLC Ha nepe-
roBopax MOMeT mnpKAaTh npeA-
croamui 15 despana BU3HT roc-
cekperapa CUHIA JIx. Beiikepa »

Adwn. A. HUKOJIAEB.
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Exercise 9 Below you will find a number of topics addressed in
Text D. Beneath this list of topics is a series of
sentences. Decide which sentences relate to each
topic, then write the appropriate letter in the
space provided.

1. ____  3aknodMeHHoOe cornauweHme
2. ____  17-mecsauHblA NeprnoAa
3. OkazaHne AaBneHUA HA

Mpeumio BAWMHITOHOM

4, __ OkasaHue BOEeHHOM
NOMOLWM
5. Baza 3AaMHUMKOH

a. UIrpa Ha rpeko-Typeukmnx NpoTHUBOP e UMaAX

b. NonHoe NpekpaweHne PYHKLUMOHUPOBAHUSA 3TOMO
BOEHHOIro obbekTa

c. Ero cpok nctek 21 aekabpsa Nnpowsnoro road.
d. BoeHHas Nnomollb

e. B TedveHMe 3Toro nepmnoaa Hasbl AOMKHb BbiTb
BbiBE A€Hbl C MPeYeCKOM TeppUTOPUN.

f. OAWH U3 YeTbipex KpYNHeMWmnX BoOeHHbIX 0BbekToB B
Mpeuun

g. OKazaHMe TOKOM NoMolUM 0ByCcnoBAMBASTCS
coxpaHeHuem Bas.
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Exercise 10

1. Complete the chart below with information from Text D. First
write the names of the two countries in the space at the top of
the chart. Then underneath write a summary of what each side
wants to gain from the negotiations.

2. The last paragraph of Text D is the conclusion of the article. The
writer begins with a question. Questions are one of the literary
devices available to the writer to engage the reader's attention.
The writer then goes on to answer his own question. In this way
the question replaces the topic sentence.

a. Write in English the question that the writer is asking.

b. What answer does the writer give tc his question?
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Key Vocabulary %‘_

B@COMbBIA

BKNaAa

BO3MECTUTb

BbBOA

U3MeHeHUue

ncTteub

NO3YHIr

HamepeHuUe
0H03HAUUTD
oBbycnoBnUBATbCH
onobpuUTh
OKp@CTHOCTD
OTMANUUBATDHCS
nepeAancaoUnpoBATbCSH
MOKWUHYTb
noMeweHue
nocneaoBaTeNbHOCTL
npoTuBopeuue

pPA3bACHUTD
packBapTUPOBAHHLIA
pacwunpeHue
pATHbLIA

poivar
CKAOHATHCH
coKpauwarbcs
coOxXpaHeHue
YKpPAcuTb
ybeAaAnUTeNbHbLIA
ywepb
YMCNE@HHOCTD

ponderable, weighty

contribution

to compensate

withdrawal

change

to expire

slogan

intention, purpose

to designate, mark

to depend on

to approve

neighborhood

to keep silent

to displace, relocate

to leave, abandon

location

consistency

opposition, conflict,
contradiction

to explain

billeted

expansion

military

key factor

to try to persuade

to reduce

preservation

to decorate, adorn

convincing, persuasive

loss

number, quantity, strength

Acronyms and Abbreviations

MTH

HPK (HapoaHas Pecnybauka

Kamnyums)
CPB (CoumanmucTmyeckas
Pecnybnuka BbeTHAM)
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Unit 49—Strategic Defense Initiative

The US has been conducting research on the feasibility of a weapons
system called the Strategic Defense Initiative (SDI). The system
would be located in space and, according to the US government, its
purpose would be to provide the US with a defense against nuclear
attack. The Soviets claim that the purpose of SDI is offensive, not
defensive. In this unit, you will read articles about SDI as reported
by the Soviet press.

Exercise 1

1. The title of Text A gives you an idea of the Soviet viewpoint on

- SDI.  Read the title below and find the adjective it contains. In

the spaces provided, write the adjective in Russian and give its
English equivalent.

a.

Text A
OOPCHUPYIOT 3AOBEIIVIO IIPOTPAMMY

b. Based upon this word, what can you tell about the author's
attitude towards SDI?
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2. In the first sentence of Text A, find a two-word phrase which
tells you that the author does not feel that SDI's main purpose is
defensive and write it in Russian.

Text A continued

BAIIIMHI'TOH, 4 uOHA.
(TACC). Coepunenuste LlraThl
dopcupylor paborsi B paMKax
TAK HA3LIBAEMON eCTpATErHuYe-

cKoit 06opoHHOH MHHUHATHBDIS.
Munucrepcreo ob6oponnt CIIA
obuLHANBHO O06BABHAO O pas-
MeIlleHKH 3aKa308 CpexMd TNoXA~
PAAYMKOB H& CO3AaHHME TNpPOTO-
THNOB epaKer-yGuins, ux Mc-
nbITAHHE M BHEJDeHHe B CHCTe-
My TNPpPOTHBOpakKeTHOH o06GOpOHbI.

Peur naer o cucreMe opy-
XKHA, BRAOYawUed B ceba MHO-
xecTBO HeGOABUIKX paKeT-nepe-

XBATYMKOB, JeficTBHe KOTOPBIX .

OCHOBBIBAETCA HA KMHETHYECKOM
npunukne. OHu HOMMHBI OBITH
pa3MellleHbl Ha
naatrpopMax, KOTOpbie ¢3aBHC-
HYTe HAX COBETCKHMM CTapTO-
BHIMH ° NICIIARKAMH K O6yayT
BAMYCKATLCA ABTOMATHYECKH ¢
1eJ1b}0 YHHUTOXKeHUR 6anJIHCTH-
YeCKMX paKeT Ha HAYaJbLHOK
cTaaMM HMX nojera. dTa CHCTe--
Ma Oyger npeacrasiaATh coboii,
no 3ambicaaM  pa3paboTuukoB
+3Be3JHbIX BOHH», MepBbiii 3le-
nou COHU. Panee muuucrp obo-
pount CIIA VYaiin6eprep aasds-’
AAJ, YTO TaKoe OpyXHe MOXer
6biTh passepryTo K 1994 rony.

OpGHTANBHBIX |

[4

IlenTaroH npeanoXHA  KOH-
TpakThl 06lleifl CTOMMOCTHIO B
507 mau. ponxapos AByM rpyn-
naM BOEHHBLIX KOpRnopauuit, Bo3-
raasasemMblX KOHUepHamu «Po-
KY2/71 MMTepH3UIHAs K eMap-
Tux-Mapuarras. CornacHo KOH-
TpakTy, HocJe CO3ZAHMA epa-
Ker-y6uiins 6yaeTr ocyluecrsie-
HA TPeXJeTHAR NpCrpaMMa HX
MCubITAHHH MO peajyIbHBIM  lLie-
nam. Coobuias o6 3ToM, arext-
crpo IOIIH ormermno, uro moka
He scHO, GyAyT JIM OHHM RPOBO-
AUTBCA B KOCMOCE MAH Xe B

npegenax armocgepsl.

Exercise 2

Below are some important vocabulary from Text A.

Match them with their English counterparts by
writing the appropriate letters in the spaces
provided. Remember to find these words in Text A
and use the context to help you figure out their

meanings.
1. —— obopoHHasn a. installation
2. ____ noapsauJuk b. will hover
3. BHeApeHMe c. defense (adj.)
4. ___ BKAawuawwemn d. contractor
5. ____  34aBUCHYT e. interceptor
6. __ nepexéc'rum( f. including
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Exercise 3 You know that a text usually consists of main ideas
e and supporting details. In the previous unit (Unit
48), you did exercises in which you matched
supporting ideas with the corresponding main topic.
Now, in this exercise you will be asked to look for
= supporting details on your own.

1. You will begin with the first paragraph of Text A. The main topic
of the first paragraph is the speeding up of work on SDI. Now find
in the first paragraph the three supporting details describing how
the work will be speeded up. Write your answers in English in the
spaces provided.

a.

b.

C.

2. The main topic of the second paragraph is an elaboration of the
supporting details of the first paragraph. This is quite common.
Skim the second paragraph and decide what the main topic of the
second paragraph is. Write it below in English in the space
provided.

a.

b. Complete the following statement by circling the correct
answer. Paragraph two of Text A is a(n)

hypothesis.
description.
assertion.
argument.

el o\ e
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3. Below is an incomplete outline of paragraph three. Fill in the
missing details in English.

The Pentagon contract
1. The cost of the contracts

a.

2. The contractors

a.

b.

3. The details of the contract

a.

4. The testing location

a.

Exercise 4

1. Find two nouns in Text A which refer to the new type of missile.
Write them below in Russian.

a.

b.

2. Find in Text A three ways in which the author refers to SDI.
Write them below in Russian.

a.

b.

C.
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Exercise 5 Text B has a title similar to that of Text A, so you
may assume that the topic will also be similar. In
addition, Text B consists of two articles and a
cartoon. All three are thematically united and
appear together in the newspaper.

1. The first article of Text B contains one of those long sentences
which you often see in the Soviet press. This sentence may be
broken down into three parts. Write the three parts below in
Russian. Each part will contain a verb, although the verb may be
in any tense or may be in participial form.

a.

2. Which of the parts above contain the main idea? Write the
letter(s) of the part(s) in the space provided below.
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Text B
®OPCHPYIOT
[IPOTPAMMY
«3BE3NELX BOHH»

CAH-OPAHIIHCKO, 2 an-
sapa. (TACC). Bexwl xnom
CKAOBZETCH K TOMY, Trobm Ha-
S8Th eNOPTAanHOE, YCKOPEHHOE
pa3Memenne NPOTHROPAKET-
HHX BOOPYXEHHA XOCMHYECKO-
ro 6aaumposamusg, ~We ROMHIA-
&Ch cO3xanua scefi CRCTEME
¢3BeANRLX mofiHe, coolmmaa
€0 CCHNKOR Ha OQHORANLHOIO

opeACTaBHTeAR ALAMEHRRCTDA-
aur razera <Jloc-ARamenec
Tafimcs.
X AamuHHcTpauust CIHA yepecwuy 3ANHCHT OT ROEHHO-NPOMbII-
(T :(A:gngr{; 1‘0:)"!““?“‘::::2:: JIeHHOTO KOMIIJIEKCA, OT MquanJ)mC'ru'-lecxux rpynm, l?o'ropbxe
- . NPEeRPAaTHIH TFOHKY BOOPYVIKEHHH B OM3HeC, 11 1éNb CROETo cYyllecT-
CKHIf DJKCNepPHMEHT MOJYYHA BOBAHHA M CMLICKT cnoel NeATeNbHOCTH.

KonoBsoe oGoaHauenue «Jless- " (M3 raser),
Ta 180s. Toumyo naTty ero .
NpoBeAeHHA KYpHanA  ¢A3spo-
cnefics He HasmBaer, coobiiasn
JUUB, YTO OH COCTOMJCA B CeH-
Ta6pe. Pakera-Hocurenr «denn-
Tas BHepBhle KOCTaBHJIA Ha Op
6uTy JnalepHHMi panap, paapa-
60oTaHHLI} Kopmopanueli «Mak-
nounesn-J{yrnace. OHa Takke
SLIBENA HA HM3KYI0O OPOHTY XBe
CBOM CTYNeHH, HAYHHEHHEIe
RATYHKAMH H NpefHAa3HAYEH-
use an8 obuapymxenus Geirhn-
Eridecknx’ paker.

eflexnra 180» — ozuE 13
Uesoro pAXA SKCNEePHMEHTOB,
ocymecreasiemux [IenraroHom
B paMKaX NpPOrpaAMME! ¢3Be3M-
HBIX BOiH»., Yie ceiiuac, mo
RAHBKM <¢Adpocmeiics, OpPraHH-
sauus no OCYINEeCTBICHHIO
eCcTpaTeruyecKoil oGoporHO#
UHHIHATHBR® 3aKnioyYuaa 6o
nee 2.000 KoHTPAKTOB ¢ KOpno-

Hd f:
4\ s
PAuUNAME M HAYYHLIMH HEeHTpa- ///7 /%;’L%//‘}’ I
MH Ha nposefeHue pabGor B

pamrax COH. Noguumalor nokasarenw. Puc. B BOJKOBA.

%
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Exercise 6 In the sentences below, some unfamiliar Russian
phrases from Text B are used in a simpler context.
Guess their meaning and write their English
equivalents in the spaces provided. The unfamiliar
phrases are written in bold.

1. KOMMyHUCTUYeCKkMe CTpaHbl BocTouHoM EBpombl Yepecuvyp
3aBUCAT OT CoBeTckoro Cota3a.

2. CoBeTcKas NponaraHAd roBOPUT: KANUTANMCTbl XOTSAT
ToNbko pocTa npubbinefi.

3. XeHeBCKMe NeperoBopbl MPeBPATUANCD B BECKOHEeUHbI
auncnyT.

4. CWA 1 CCCP ¢ kaxabiM gAHeM pasBuBAlOT rOHKY
BOOpPYXeHUM.

The following background note will help you to understand more of
the political undertones of the cartoon in Text B.

Backaround Note S8Rk, _

The phrase in the cartoon's caption moaAHUMATL MokasaTenu—to
enhance indexes—frequently appears in the Soviet press. It usually
refers to the productivity of the entire Soviet economy. The
implication of the cartoon is, therefore, that the index of the US
economy is increasing because of SDI and the arms race.
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Exercise 7 In this exercise you will work on extracting factual
information from Text B.

1. Text B contains in quotation marks the names of several things.
Some of these are listed below. Write in English what each of the
following refers to.

a. denbTa 180

b. AenbTa

c. MakaoHHenn-Ayrnac

d. Aspocneiic

2. Answer the following questions in English in the spaces provided.

a. What did the launch booster do?

b. What is the function of the sensors?

Exercise 8 The title of Text C contains the word sicTpebbl
which means hawks. Skim the first paragraph of
Text C to find out who these "hawks" are and what
they want to do. Answer the questions on the
following page in English in the spaces provided.
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1. Who are the people described as "hawks"?

2. What do they want to do?

Text C

«SACTPEBDbI»
TOPOIIATCHA

BAIIMHITOH, 19 ausaps.
(TACC). +fAcrtpebuis B peiira-
HOBCKOIl aJMUHHCTPallKH che-
UIAT K&K MOJXHO CKOpee nipu-
CTYyNmUTh K  pPa3BepThIBAHMIO
mHpokomacmrabuoit  cucremsr
IIPO ¢ snementaM KocMuue-
ckoro Gaauposaums. Tasera
«Bamunrron nocrs coobmaer,
uto 17 pexafps npowsoro ro-
Xa B Bemom paome cocrosnochs
3acexaHue, Ha KOTOPOM Ipe3H-
Reutry  Peiirany 6ma  npea-
CTaBNeH ¢HeoGBIYaliHO AeTanb-
Hulfi®» MJIAH  peand3alHu npo-
rpaMMBl  ¢3Be3AHBIX BONHSs.

I'naBHble y4YaCTHMKM BCTpe-
UM — QMPEKTOP  OpraHU3alMHU
no ocyurecrsiennio COH rene-
pan-nefiteHant J[[>k. A6paxam-
con, wed IMenrarona K. Vaiiu-
feprep ¥ NOMOIUHHUK MUHUCTPA
o6opouss CIHA P. Ilepn — mo-
Ka3eiBaJH, u4T0 CoezMHeHHbIe
IlltaTel MOraAM 6 NPHCTYHOHTHL
K pa3dBepTHIBAHMIO  ¢NEepPBOros
amesloHa  mHpokoMacmTabHOM
NPOTHBOPaKeTHON OGOPOHBI ¢
3NeMeHTaMH KocMHYecKoro 6a-
aupoBaHuA K 1994 roapy. 3rtor
nnaH, oTMevaer «BaumMHrTOH
nocTs, GBI BOCNPHHAT BHYT-
pu caMON aZMHUHHUCTPAUMH KaK
noneiTka ctopoHHukos COM
HOGMTBCRE nNepeBoja NporpaM-
Mbl ¢3Be3AHBIX BOHH®» H3 CTa-
AMH  HCCJHeROBaHW B a3y
npakTHYeckux = paapaborok. Ilo
CJOBaM TraseThl, B HacTOAluee
Bpems IlesnTarou roToBMTr Ta-
KYI0 PEKOMEHZALMIO TIpe3H[eH-
1y Peltrany.
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Exercise 9 The second paragraph of Text C gives a description
of the plan for SDI. Answer the following
questions about the plan in English.

1. What is projected to be finished by the year 1994?

2. What kind of transformation would the supporters of SDI like to
see occur in the Star Wars program?

3. What recommendation is the Pentagon preparing for the
President?

Exercise 10

1. Write in Russian the words or phrases in Text C that the author
uses to indicate the urgency of the hawks.

2. In the first paragraph of Text C the author mentions a plan:
HeobbIUAMHO AeTAsbHLIM MAGH Peanmsaumm NPorpammbl
3Be3aHbix BOMH. What is this plan? Find in the second
paragraph the author's elaboration on this plan and write it below
in Russian.
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Key Vocabulary %_

BHeaApeHUe introduction; incorporation
BOCMPUHSTD to perceive

FOHKQ BOOpPYXeHWUMR arms race

AaTYUK sensor
AOKA3bIBATDL to prove, demonstrate
3aBMUCATb, 3ABUCHYTH to hover
3acedqaHUe conference, meeting
3Be3aHble BOMUMHDI star wars
mMcnbiTaHmne testing
mccneanoBaHue research

KUHeTUY e CcKuin kinetic

KkoanoBoe obo3HaAvYeHUe code name
HavyanbHAas craaus initial stage
ocyuwecTBAKEeMbIA carried out, accomplished
NnpeBpATUTDL to convert
APUCTYNUTD to start
pas3BepTbhiBAHUE deployment
pakeTa-ybuiua killer missile
cMbicn sense

cTapToBAA nNnAaowWwaaka launching position
CTOMMOCTD cost, value
CTOPOHHUK supporter, advocate
cywecTtBoBAaHUe existence
PopcCHUPOBATD to speed up
YepecuJyp too

Acronyms and Abbreviations

NPO (npoTuBopakeTHas anti-missile defense
obopoHa)

COM (cTpaTerunveckas Strategic Defense
obopoHHAas MHMUMATHBA) Initiative
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Unit 50—Ethnic Tensions

The articles in this unit address the issue of ethnic tensions in the
USSR. You will be reading about the situation in Abkhazia, which is
an autonomous republic located in the northwestern part of Georgia.
There have been strikes and violent confrontations in this region.
The two ethnic groups involved are the Georgians and the
Abkhazians. You will see how the Soviet press treats incidents of
turmoil within its own country.

Exercise 1 One way of skimming through a text is to look at
the beginning of each paragraph. The first sentence
used often gives you clues to the contents of the
paragraph. The title and the first sentence of each
paragraph of Text A have been given below. Read
them, then go to the next part of the exercise.

K cobbTusam B ABxaszum

OBCTAHOBKA HA TEPPUTOPUM ABTOHOMHOM pecnybnmkm
OCTOEeTCHA CAOXHOMN.

HUMelT MeCTO arpeccmeHble A€MCTBUA MO OTHOLWEHUIO K
COTPYAHUKAM MUAMLIMK U BOSHHOCAYXAWMM, MOMNbITKA
3AXBATA OPYHUA.

Ha yuacTke wenesHol aoporun Cyxymm-Iyaayra
HeM3BeCTHbIMKM Pa3oBbpaHo 0Kono 50 MeTpoB
HeNne3aHoAOoOPOXHOroO NONOTHA.

B ropoae Cyxymmn 1 B uenom B pecnybnmke MOXHO
BCTPETUTL MPYMMbl BOOPYEHHbIX Noaei.

Ha 18 uionsa ybuto-16 Yenosek, M3 HUx abxasues-5,
rPy3vH-9, ABoe HEe OMO3HAHDLI.

Based upon the title and the sentences above which of the following
topics do you think will be mentioned in Text A? Check the
appropriate box.

Yes No
1. Specific incidences of violence against police Q |
2. Situations in Abkhazia Q Q
3. The historical causes of the violence Q Q
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® N o O &

Railroad lines that have been dismantied

The government's reaction to the turmoil

Casualties incurred

Citizens arming themselves.

Evacuation of besieged cities

£
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Skim Text A below to see if your predictions are confirmed and then

proceed to Exercise 2.

Text A

K coObiTHsIM B AOXa3um

Coobujaer nonutynpasnenne BSHYTPEHHMX

O6cTaHOBKA HA TEpPPHTOPHH
aBTOHOMHON pecnybABRKH OCTa-
ercx caoxuofi. K pabore ne
NPHCTYNKAM MHOTHE IIpEeANpHA-

. THR TOpProBaH ® ofuecrsenHo-

ro nuraHua ropoga Cyxymu.
Haoxo ¢pyuxumonnpyer obuge-
creenRuft Tpascnopr, He pabo-
TAJOT KONXOIHLIA DHIHOK, INpexn-
NPHATHA MeCcTHOH! NPOMRILIER-
Mocte. Habmonaerca  npmrok
AMI TPY3MHCKO# HALMONAABHO-
CTH, NPOHGCXQARHT BATHETIRUE
CTpaxa M HEYBEePeRHOCTH CPeRM
MecTHOro Hacenennsa, OCHOBHBI-
MH OYAraMK HANDAXEHHOCTH
SBAAOTCH OPOAA
Txsapuenn, 3yranau, aan,
HMmeloT MeCTO ArpecCHBHNE
AeficTBMA MO OTHOLIEHMIO K CO-
TPYARHKEM MHARLHMM ¥ BOEH-

HOCAYXAIUMM, TNONBITKH 3aXBa-

Ta opyxua. Tak, » Cyxymu 17
HIONA HeK3BeCTHbie JKIA OCTA.
HOBMAM aBTObyc, Ma6uaM . npa-
nopmuxa M. Hamazosa, 3axsa-
THAK ero nucrojaer m Goenpuna.
est, B aror xe news comepmena
NMOMLITKA HANAZEHMA € LeaAbLlo

Ouamunpa,:

aaxpara opy»xHs Ha nocr AM
B noceaxke Marapo. B ropoxge
Tann, Ha RECATHTHICAYHON MH-
THHT'e, 3 KOTOPOM NPHHAJ Y4a-
cTue nepsutii  cexperaps ILIK
Kounapray I'pysau I'. I'ymGa.
pHA3e, o6CTAHOBKA HAKANMAACH
Ao Taxofi cremer:m, uTO nocse
yXxofa PYKOBOACTBA pecnybnu-
Ku cobpaBmneca pa3GHAM CTek-
na ® amsepn pafixoma nap-
tui. Ilocae aroro Tonna monm-
TAJacCe TpopsaThcE B rOPoOg
Cyxymu. Oznaxo cunamu “sRy-
TpenHux sofick 3TH gedicrBua
6max npeaorTmpamlieRH.

Ha yuacTke xeneamolt gopo-
rn Cyxymu — Tyzayra Heus-
BecTHHIMK pasobpano oxoao 50
METPOB ¥KeJEIHOXOPOKHOro IO-
noraa, Ha 2082-m xunomerpe
‘3axasKkasckoit xenesmolk Jaopo-
ru B pafione cesa Ilceipuxa
pasobpano 20 wmerpos nNyTH.
Boccranopurs pazobpannme
YYaCTRH IenesHod AOpoOrM He
yaanoch, TRK Kak paboumue o7r-
K&3LIBAIOTCH OCYUIECTBJATL pe-
MOHTHbie paboThnl.

sodick MBLA CCCP

B ropoae Cyxymu u B 1eIOM
8 pecnybauxe MOIKHO  BCTpe-
TUTh TPYRNHE BOOPYIMEHHLIX
monesi. Opyxne HOCAT OTKpHI-
To, & NPHK MIBATHH 3aABJIAIOT,
4YTo 9T0 Heol6XOZMMO AARAK 3a-
IHTH KHAML] H OKA3AHHA moO-
mown cocepaM. He ob6xoaurca
6ea xepTs.

Ha 18 uiona yburo — 16
vesoBeK, B3 Hux abxaaues —
5, rpyane — 9, mBOe He Ono3-
iiin 289 4@nomex obpaTianuts
38 MeAHUMHCKON mnomolubio,
187 — rocnuTaJNH3IHPOBAHH, H3
HHx 15 — B TAXKENOM COCTOS- -
uuu, TpaBMupoBaHn 7 BOEHHO-
CAYMAIKX BHYTPEHHHX BOJNCK,
Opraxsl npaBoONOPAAKA OCHOB-
Hble YCHJIHA COCPEAOTOYHJH Ha

 NaTpyJMpOBAHKM B ropoaax M

NpHAEraloMMUX K HHUM HACEJeH-
Helx nyukrax. Hawsaro 218
eAMHUL, OTHECTPEJbHOrc  OpYy-
KA, OKOJO ABYX ThicAY Goe-
npunacos, 18 xunorpaMmos
B3PRIBYATHIX BELIECTB.

The next several exercises will help you to locate specific
information in Text A.
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Exercise 2 The subjects below are mentioned in Text A. Look
at the verbs which accompany these words. The
verbs will tell you how each of these non-military
establishments were affected by the unstable
conditions in the area. Write these effects in
English in the spaces provided.

1. commercial businesses

catering establishments

public transportation

collective markets

o & 0w

local industries

Exercise 3

1. The second paragraph of Text A describes a certain number of
incidents. How many are described?

2. In what three places did the incidents take place? Scan Text A
for the answers and write them in the Russian in the spaces
provided.

a.

b.

C.
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3.

54

The following statements describe the incidents mentioned in the
second paragraph of Text A. Read the statements, and then scan
the text to see if they are true or false. Mark the appropriate box.

a. HemsBecCTHbIe NAMUA OCTAHOBMAM cBTo6yc
B Nanu

b. Npanopwmk M. HamMazoB Bbin B aeTobyce.

C. HemsBecCTHbIe NMUQ 3AXBATUAM NUCTONET
n Boenpunacs M. Hamazosa.

d. Ha cneayowumit aeHb nonbiTanuco
SAXBATUTb OPYHXHe HA nocTy TAWN.

e. . l'ymbapuase npuHan yyacTtue B
AeCATUTBICAUHOM MUTUHIE.

o O 0O 0o o -
0O 0O 0O OO0 O+

f. Nocne MuTUHra Tonna nonwiTanach ybuTs
r. rymbapuase.

. & The description of the last incident mentioned in the second

paragraph includes the outcome. The author uses a connecting
word to signal this outcome. Write this word below in
Russian.

b. What does this word mean in English? Write your answer
below.

c. What was the outcome?
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Exercise 4

1. In Russian an adjective is sometimes used as a noun. The third
paragraph of Text A contains the adjective Hen3aBecTbiMUK, which
is being used as a noun. What does this noun refer to?

2. The last sentence in the third paragraph contains two parts. One
part is the cause and the other is the effect. Read the two parts
below. Which is the cause and which is the effect? Write a C
next to the cause and an E next to the effect.

a. BoccTaHOBUTL pasobpaHHble yuacTku enesHoM
AO0POrn He yaAanoch

b. Paboune oTKA3bIBAKTCA OCYILECTBAATD PEMOHTHbIE
paboTbi

3. The article mentions that people are carrying arms openly, and
gives two reasons for this. Scan Text A, find the reasons, and
then write them in English below.

a.

b.

4. In the last sentence in the fourth paragraph of Text A, the author
states the result of citizens carrying arms. What is the result?
Write your answer in English in the space provided.
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Exercise 5 The last paragraph contains a lot of numbers.
Write in English what each of the numbers below
refers to.

b

.16

239

187

15

7

218

. 200,000

© © ® N O o » @ N

—r

.18

Exercise 6 Text B is an article on the same topic as Text A.
However, it appeared in the newspaper the day
after Text A appeared, so it is a continuation of the
events in Abkhazia. Read the title and first
sentence of Text B. Circle the phrase below which
best summarizes the main purpose of the article.

1. To criticize the proponents of violence

2. To give a commentary on the reasons for violence

3. To describe the government's reaction to the violence
4. To provide further details of the violent incidents
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Coobwaer naw
BHeWTATHLIA

KoppecnorpgenT

NOANONKOBHMK
A. Cemenska

CoBMecTHRIM ToCTaHOBME-
Huem BepxosHoro Copera AG6-
xaackoli ACCP u Comera Mu.
Hucrpos AbGxasckoit ACCP 18
HIONA BBejeH oco6rifi pesum
NMOBEACHHS TIpa)XAaH Ha Beelt
TEpPHTOPHM RBTOHOMHOIt  pec-
ny6anku. OH sanpeujaer KuTe-
JAM  BCE€X HAaCeJNeHHMX NYHK-
ToB pecny6auxku ¢ 23 po 6 ua-
COB YTpa N0 MeCTHOMY BpeMe-
HH M8XOAMTLCA BHE JKHANX M
ApYrux nomeulenuit 6es cnemu-
anbHOro paapeumieH¥s. 3anpe.-
IIeHO  ABHKeHHe YACTHOIrO
aBTOTPAHCIIOPTA, XpAHeHHe or-
HECTPeJbHOro OpYIKHs, B3phlnO-
ONACHBIX INPeAMETOB M 3aIKHU-
rateabHux cMmecefi. Ilpexnmuca-
HO BCeM rpaxgaHam GeaorJa-
raTenbHo CAATH MMeloleecs or-
HecTpeJbHOoe opyxHe. Taxuxe
sampelneso jo0 ocoboro pacno-
PAXeHUs cKonJeHHe aioAel Ha

YAHUAX H IUJIOLAAAX, NpOBefe--

H#Ae MHTHHIOB M ecTBuit,

B artux ycaoeuax BHyTpeH-
HHe BRoiicka MBJ] CCCP wume-
10T TPaBO 3aAEpIKUBATHD H Ile-

. TaJo GOoAKIUHHCTBO

penaBaThs ANA NPUBJEYEHHA K
YroansHo#k OTBETCTBEHHOCTH
NHYU, XPAHAIIHX ' OTHECTPeNb-
HOe Opy)KiHe, BIpLIBUATHIE Be-
lulecTBA, 3IAKHrATEAbHBiE CMe-
cu.

Beepenne ocoboro pexuma
NOBEAEHHA —  BBHIHYKACHHAR
Mepa. B Hacenemunx nymxrax
Ouamunpckoro paitona u na
Tpacce NOABHAMCE BOOPYIKeH-
Hble MHKETYHKH, KOTOphie Op-
TFAHHIOBAJK DJACAOHW Ma XHOpO-
rax, OCTAHABJAMBANHM M OG6hIC-
KHBANH ABTOMAHIMHLI. ARajo-
THYRbEe fgelicTBHA  3acioHOB
oTMedaaucr B I'yaayrckom
palione,

Boeruocny:amumMu BmyTpeH-
Hux sojick MBJ CCCP npn-
HATH Mephl N0 JOKAJMIRIHH
3aCJOHOB Ha poporax. ToJabko
B pailone ropoaa Ouamuyupa 2a
ABa AHR OBIIO M3BATO Y NNH-
KeTuHKoB 76 cTBONOB OXOTHM-
4bero ; opyxxuga, 10 mamoxanu-
GepHBIX BMHTOBOK, ORHH aBTO-
MAT, OAHA BHHTOBKA (TPeXJH-
HeilKa), NATH THICAY NATPOHOB,
11eCTh CAMOREJABHLIX B3phiBua-
THIX YCTPOHCTB.

3a HCTexmHe CYTKH B aBTO-
HOMHON pecny6anke He pao-
npeAnpHA-
Thit, He OGyHKUHOHHpOBEN O06-
UieCTBEHHLI H Xeae3HOAOpPOX-

OCO5BIR PEXKM NOBEQERKS

uuf#f rpancnopr. Ha xeneamo-
RopoxHo# craHuHK ropoga Cy-
XYMH CKOIHJOCH GoJbliioe Xo-
NHYECTBO mnaccaxupos. Cpean
HHX MHOro jerefi, IKeHUIMH.
Ha 3akaskascko#t  mxenessoft
Aopore Guliy pPA3OGPAHLI NMyTH.
Ilpn akTHBHOM yuacTHE BHYT-
PEHHHMX BOMCK NOJHOCTHLIO BOC-
CTAHOBJIEH I NOBPEXKAEKHLIe
MENCIHOAOPOIKHBIE NYTH, NOA
OXpaHy B3ATH Hanbosee BaX-
Hble 0GBEKTHI,

3a BpeMA CTOAKHOBEHHA Ha
MEXHALHOHANBLHOK OCHOBe cpe-
AM OTABIXAIOIIHX B AOMAX OT-
AblX&, NAHCHOHATAX, CaHATO-
PHAX H NHOHEPCKHX  Jarepsx

. NOCTPAAABIIHX HeT.
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Exercise 7 To help you understand Text B better, match the
Russian phrases below with their English
equivalents by writing the letter in the space
provided. There is one extra phrase.

1. ____  besoTnararenpHo a. under these
conditions

2. _____ Ao ocoboro pacnopsxeHus b. under time
constraints

3. ____ B 3TMX yCNnoBuax c. during the time

4. ___ 3A UCTEeKWKMe CYTKH d. until further
notice

5. ____ 3aBpemAa e. during the past 24
hours

f. without delay

Exercise 8 Text B contains a number of activities that have
been prohibited. Check yes if the activity is
mentioned in the text as being prohibited and no if
it is not mentioned.

Yes

1. Public gatherings

Printing of flyers

Air transportation

Meetings and processions

Storage of explosives

o o A 0N
O0000O
000000 s#

Private transportation
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Exercise 9 Read the questions below, then scan Text B for the
answers. Write your answers in English in the
spaces provided.

1 What do the internal security troops have the right to do with
those who are found with prohibited materials?

2. What are the armed picketers doing in the Ochamchira region?

3. Why is there a crowd of passengers at the train station?

4. Have there been any victims or casualties at the resorts so far?
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Exercise 10

This exercise focuses on what you have learned

from Text A and B. Fill in the blanks with the
appropriate word from the list below. There is one

extra word.
U3BATO OXOTHWUMYbErO
HanaaeHnsA CAOMHOM
obCcTaHOBKA 3AXBATA
ocobeHHo peXmm
normbno boenpunacoe
BHYTPeHHUX
CoobwaeT nonmTyrnpasneHme 1 BOMCK
MBA CCCP. 2 B OBTOHOMHOM
pecnybnmnke octaeTcs 3. '
4. B ropoaax TkBapudenwu,
Ouamumpa. OTMeualTca cnydam 5
HQ COTPYAHWKOB OPraHoOB BHYTPEeHHKUX ges, NOoMbiTKu
6 OPYHHA N 7 3a

18 yenopek. o

nepuoa ¢ 15 mona 8

AQHHBIM 30 MUHYBLUME CYTKW, 9

CTBONOB, B TOM YuMucne 287 eanHuu 10

OPYHKMUS.

Key Vocabulary

besoTnararenbHo
B3pbBUYATHEe BelWwecTBd
3AMUraTesibHbe CMecCH
3ACNOH

3AXBATUTDL

naburo

M3bATHUE
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without delay
explosives

incendiary mixtures
roadblock

to seize, capture, take
to beat, assault
confiscation
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HarHeTaHue rise, increase; forcing
HAKAanNnTbCH to heat up, become hot
HAMNpAXeHHOCTDb tension
obbiCKMBATDH to search
oOMno3HAThH to identify
orHecTpesibHoe firearms

opyXue
OTKA3bIBATDH to refuse
OXOTHUUDbE OpYyXHe hunting weapons
oxpaHa protection
ovyar cartridge
naTpoH cartridge, round
naTpynupoBaHue patrol
NUKeTUYUK picketer
nospexaeHHbA damaged
nocenok settlement, town
nocrtpaaasuwue victims
NMpasonopaAaok law and order
NpeAaoTBpAlWlATb avert, prevent, ward off
NnpeanpuaTue business, unertaking
npuBfieveHmne bringing (to court)
npuneraskwmni adjacent
NnpopBATbCSK force one's way, break through,

penetrate

pasobpaTb to dismantle, take apart
paikoM district committee
PeMOHTHDbIMA repair (adj.)
camMoaenbHbI home-made (adj.)
CKOMUTbCH to accumulate, gather
cTeKkno glass
TpaBMUPOBATDL to traumatize
YrOfioBHbIA criminal (adj.)
XpaHeHue storing, keeping
uwecrteme protest march

Acronyms and Abbreviations
ACCP (ABToHOMHast CoBeTckasi Autonomous Soviet Socialist

Coumnanuctmndeckas Republic
Pecnybnuka)
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MBA (MuHKUcTepcTBO Ministry of Internal Affairs
BHyTpeHHUX flen)
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Workbook 10—Speaking Suggestions
Unit 46—The Warsaw Pact

Divide your class into pairs. Give student A the role of a Warsaw Pact
officer and student B the role of a US army officer who is observing a
Warsaw Pact exercise. Ask each pair to develop a conversation along

the lines suggested below.

Student A Student B

Compliment the Warsaw Pact
officer on what you have seen.

Ask what has impressed the
observer.

Respond to the question. Ask
if the Warsaw Pact officer had
any special difficulties in this
exercise.

Respond in the affirmative.
Explain. Describe solutions.

Suggest additional solutions.

Disagree politely with the
suggestions. Explain why.
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Unit 47—NATO

a. Divide your class into two teams. Assign to Team A members
military roles such as would be found in NATO and to Team B
members civilian roles from the lists below.

A B
nnnoT XYPHAMMCT
TAHKUCT nosap
reHepan 3ybHoM Bpayv
MUHUCTP 0HOPOHDI npoaaseu
MO P SIK UHXeHep

(Add to the lists if you have more than eight students)

b. Instruct members of Team A to pair up with members of Team B.
Student pairs then have to find the commonalities of the two
professions they represent.

c. Allow three minutes for student discussion and then instruct
them to find new partners. Continue until each member of Team A
has interviewed all the members of Team B.

Unit 48—Reduction of Military Forces

Explain the following scenario to your class, assign roles and ask
students to discuss the situation.

The US'armed services have been assisting a friendly government by
offering support in organizing supplies and in giving combat training.
it has been decided to review and possibly to withdraw this
assistance. A group has been called together to discuss this issue.
Roles

1. You are a member of Congress. You want to cut back on military
spending.
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2. You are a member of the State Department. You have mixed
feelings. On the one hand the US support has been well received
by the host government. On the other hand you are very aware of
local opposition to a "US takeover."

3. You are an officer in the US armed services. This program has had
excellent results. You want to continue.

4. You are a journalist. You think that the US military suffers from the
"on again/off again" approval of foreign military aid. You would like
consistency and long-range planning in this kind of operation.

Unit 49—Strategic Defense Initiative

Explain the following scenario to your class, assign roles and ask
students to discuss the situation.

You are all involved in various ways in the development of SDI. Your
budget is being cut. Discuss the situation.

Roles

1. You are an engineer working for a company which has contracts
with the government to research and develop an aspect of SDI.
You are concerned about your job security and the job security of
the other engineers in your company.

2. You are an economist working in a Washington think tank. You think
that developments in Eastern Europe have reduced the Soviet threat.
You would like to see SDI cut back and the industrial-military
complex restructured.

3. You are a congressional aide working for a congressman from
Colorado. You personally think that SDI funding should be greatly
reduced. However, you also realize that cancellation of SDI will
affect your congressman's district very adversely through loss of
jobs.

4. You are a military officer. You think that the situation in Eastern
Europe is very unstable. You think that this instability could lead to a
Soviet crackdown and perhaps a military dictatorship in the USSR.
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Un

a.
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You are convinced that US military spending on SDI research and
development should continue.

it 50—Ethnic Tensions

Divide your class into groups of threes. Assign a role and card to
each student.

Student A—Card A

You are a Latvian. You manage a small factory. You are angry
about the "Russification" of your country. Your is the most
industrialized of the Baltic states. Since the Second World War,
Russian workers have been encouraged to settle in Latvia. Now,
out of a population of 2.9 million, fewer than 45% are Latvians.
You want the Russian workers to leave Latvia. Answer the
journalist's (student C) questions and present your case.

Student B—Card B

You are a Russian manager of a plant in Latvia. You moved to
Latvia in 1949. You have worked hard to make your plant a
successful one. You think that Russians have contributed a great
deal to the development of Latvia—in fact you think that without
Russian workers Latvia could not continue to function. You are
appalled at the Latvian attitude. Answer the journalist's (student
C) questions and present your point of view.

Student C—Card C

You are a journalist. You will be interviewing two people with
opposing views—a Latvian, who wants the Russians to leave
Latvia and a Russian who has spent his working life in Latvia and
is angry at Latvian "ingratitude." Ask them about their points of
view.



Exercise 1

Exercise 2

Exercise 3

1.

PN~

Answer Keys, Unit 46

Answer Key

Unit 46
1955 1955
OpraHmsauum Bapwas- Warsaw Pact
cKkoro floroopa Organization
385 MunanoHoB Yesnosek 385 million people
MOLWHbIA powerful
EBpone Europe
MonnTnveckomy Political Consultative
KOHCYNbTATUBHOMY Committee
koMuTeTy (MNKK)
30 neT 30 years

You might expect Text A to discuss the 30 years of
the Warsaw Pact's existence since 1955,

defending the 385 million people who live in
Eastern Europe, with some sort of help from the
Political Consultative Committee.

. To strengthen peace in Europe, socialist countries

set up a system of collective defense against
imperialist aggression.

. Having led the Warsaw Pact for thirty years, the

Political Consultative Committee's main aims are
to avoid war, to maintain collective security, and
to defend socialism.

O oo
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Exercise 4

Exercise 5

Exercise 6

Exercise 7

68
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Paragraph 1. a
Paragraph 2. ¢
Paragraph 3: e
Paragraph 4: f
Paragraph 5. b

b

BOEHHAs 4OKTPUHA
rocyaapcTBeHHbIA CTPOM
obopoHUTeIbHbie BOMHDI
obopoHa oT arpeccuu
npeAaoTBpaweHue BOMUHDI
saepHasn (BomHa)
HacTynaTenbHble onepauum
obopoHUTelbHble onepauun

. It set forth new approaches to the structure of the

socialist armies and the prevention of war.

. The goal is to prevent war, both nuclear and

conventional.

. The strategy involves preventing war by defensive,

not offensive, operations.

. a noarveepxaas confirming
b. yyuntbBas taking into account
c. byayum being
d. pykoBoACTBYSCb being guided by

. AoroBapuBalolWMecs CTOPOHbDI

The parties to the agreement

, i’
’ d.’
J

=5

g, k

Paragraph 6:



Exercise 8

Exercise 9

Exercise 10

Answer Keys, Unit 46

. The new military alliance in the form of the "West

European alliance” increases the danger of war and
threatens the national security of the Warsaw Pact
countries.

. From the formation of a new military alliance

that includes a remilitarized Germany

. & «3anagHoeBpoOnencKku cors3»

b. HoBas BoeHHas rpynnupoBKa
c. CeBepoaTnaHTUueckuit baok

. Your predictions might include:

A description of the new commander of the Warsaw
Pact, praise for the outgoing chief, and indications
of any other organizational or personnel changes

. Paragraph 1. Marshal Kulikov receives new title,

Inspector General in the Ministry of
Defense, service to Pact noted
Paragraph 2: New commander named, General
Lushev, chosen by Pact members
Paragraph 3: General Lushev, military biography,
previous posts and experience

. His appointment to the position of Inspector

General of the USSR Ministry of Defense Group of
Inspectors

. Governments of Warsaw Pact member states chose

his successor.

. He commanded the Group of Soviet Forces in

Germany.

. He was First Deputy Minister of Defense of the

USSR in 1986.
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Exercise 1

Exercise 2

Exercise 3

Exercise 4

70
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Answer Key

Unit 47
d
c
e
a
b
b
Kak ckonaumeanm Bnok
c
F
T
F
T
F

. Typically, the following would be compared:

troop and equipment strength;

new equipment;

organizational changes and differences;

NATO's so-called "aggressive" stance, in contrast
to the Warsaw Pact's so-called "peaceloving”
and defensive attitude;

‘effects of political and superpower relations,

e.g., arms reduction talks;

civilian attitudes to NATO, especially protests in
Europe against the US military;

the huge cost of arms and the arms race.

Your summaries might include the following:

Paragraph 1: Technical equipment is a major factor
affecting military capability while
technical advances in general
increase military destructive power.
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Paragraph 2. NATO and Warsaw Pact forces have
approximately equal strength levels,
with certain imbalances.

Exercise 5 1. Both firepower and range increase.

2. The relationship becomes more complex.

3. Mankind faces the threat of new weapons of mass
destruction even more powerful than nuclear
missiles.

Exercise 6

bW =
oCoM OO0

Exercise 7 Paragraph 1: A delegation of NATO country leaders

visited the USSR Ministry of Defense.

Paragraph 2: The Minister informed the guests about
the defensive military doctrine.

Paragraph 3: The Minister spoke about statements
from the West calling the USSR
"overarmed" versus calls for the USSR to
negotiate from a position of strength.

Paragraph 4: The USSR states its position opposing
the militarization of space.

Paragraph 5: The Minister mentioned broadening of
the dialogue.

Paragraph 6: Political leaders discussed the role of
nuclear weapons in preventing war over
the last 40 years.
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Exercise 8

Exercise 9

Exercise 10

72

OOhwN =

. The Soviet Ministry of Defense has never before

hosted such a representative delegation of NATO
member-countries.

Soviet armed forces will assume an exclusively
defensive character.

. It is essential to adhere to a balance (of interests)

between NATO and the Warsaw Pact.
The USSR says that the lower the overall arms
levels, the greater the overall security.

—“Mm—aTn—-

MUHUCTPOM 0BOPOHDI
OBOPOHNTENbHYIO BOGHHYIO
HATO m BapuwasckmM JoroBopom
opyMHna
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Exercise 1

Exercise 2

Exercise 3

Exercise 4

Exercise 5

i

Answer Keys, Unit 48

Answer Key

Unit 48
a. USSR, Hungary
b. USSR
a. d
b. “aCTUMHDIN
a. The first stage of withdrawal will be completed.
b. Withdrawal will continue.
A tank division and a training tank regiment

. a. He announced the Soviets' withdrawal from

Hungary.
b. He announced the Soviets' peaceful initiatives
(to withdraw) in a speech in New York.
nocne BbiBOAd
The barracks, airports, and other miltary dwellings
will be turned over to the local authorities.

. a. NoKHHeT

b. byaeT 3apepweH
C. COKpAWAaTbCA

. Troops are withdrawing from a country and

returning home.

. a. Vietnam and Cambodia

b. Vietnamese troops are pulling out of Cambodia.

oowpo

_L.PN
woo
\l

Fact
Fact
Opinion
Opinion
Opinion

PpOQO O
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Exercise 6
Countries involved | Equipment withdrawn Location of
withdrawal
Spain and US 72 American F-16 The US base in
planes Torrejon de Ardoz

Exercise 7 1. b

3. a. there are no plans to increase the US military
presence on Spanish territory.
b. compensate for its loss by expanding its
air force and naval bases in Rota.
c. silence.
d. $400,000 for modernizing its base in Rota.
4. N BOT HA AHAX M3 BawumHrtoHa npuwno
bonee ueM ybeauTenbHoe noaTBepXAeHMe
HaMepeHuM MNeHTAroHa

Exercise 8 1. a. The US and Greece
b. Athens
c. The future US military bases in Greece
2. The text will be about whether or not US military
bases will continue to operate in Greece.

Exercise 9

nprwNO -
ocapoo
- Q
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The US Greece
Wants to continue with the Wants a new agreement and
old agreement and does not want | wants at least one major
any bases to be shut down American base removed

2. a. When will the negotiations go into their final

b.

phase?
No sooner than June, when elections for the
Greek parliament take place.
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Exercise 1

Exercise 2

Exercise 3

Exercise 4

76

I e

Answer Key
Unit 49

. a. 310BeWwyr evil, sinister

b. He thinks it is a bad idea.
TAK HA3bIBAEMOM

OO+ OO

Orders are being allocated to contractors.
The contractors will create the prototype.
The anti-missile missile will be tested and
incorporated into the anti-missile defense
system.

The anti-missile missiles

oo

$507 million

Rockwell International Corporation
Martin Marietta Corporation

3-year testing period after the missile's
development

either in outer space or in the earth's
atmosphere

> @ Poop
PO N

o

pPaKeThi-yBriALLbl

paKeThi~NepexBaTuYMKU

cTpaTernuyeckas obopoOHHANA MHULIMATUBA
CUCTEMA NPOTUBOPAKETHOM 0B OP OHbI
3Be3AHble BOMHSI

Oocwpow
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Exercise 5 1. a. Benbit AOM ckNoHAETCHA K TOMY, UTObbI
HAMATb NO3TAMHOE, YCKOPEHHOe
pdsMelleHMe NpPpoTUBOPAKETHbBIX
BOOPYHEHMM KOCMNUECKOro BA3MPOBAHMS

b. He AoXMAAACh CO3AAHUSA BCEM CUCTEMDI
3Be34HbIX BOMH
C. COOBWMNA CO CCHIAKOM HA OPUUMANLHOIO
npeacTaBuUTe N AAMUMHUCTPALMKM FA3eTa
"Nloc-AHAaxenec Tammc”
2. ab

Exercise 6 1. Depend too much
2. Increase in profits
3. Arms race

Exercise 7 1.

o

The code name for a military scientific
experiment

Launch vehicle or booster rocket

The corporation which developed the laser radar
The journal supplying data about the experiment
Sent laser radar and two missile stages into
space

To detect ballistic missiles

pooo

o

Exercise 8 1. Members of the US administration
2. To speed up the process of developing SDI

Exercise 9 1. The first stage of the SDI program
2. A transition from theoretical research to practical
application
3. To make the above transition
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Exercise 10 1. ToponsaTcs
cnewar
KAK MOMXHO CKopee
2. pa3BepTLIBAHME NEPBOro 3WeNoHA
WP OKOMACWTABHOM NP OTUBOPAKETHOM

OBOPOHBI C 3N1EeMEHTAMM KOCMMUECKOrO
fasmposaHma
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Exercise 1

Exercise 2

Exercise 3

N —

PN AW

ghwp =

Answer Keys, Unit 50

Answer Key
Unit 50

. Yes

Yes
No
Yes
No
Yes
Yes
No

closed
closed

. barely operating

closed
closed

Cyxymm
Marapo
ranu

M—AM——m

OAaHako

However

The internal security troops were able to
prevent the crowd from entering the city of
Sukhumi. ,

OCToPrOQOTPOTE N
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—t

Exercise 4 . The unknown persons who dismantled the railroad
lines.

a. E

b. C

a. To defend their homes

b. To provide their neighbors with help

There were casualties.

A

Exercise 5 People who were killed

Abkhazians who were killed

Georgians who were killed

People who have sought medical attention
People who have been hospitalized

People who have been hospitalized and are in
serious condition

Servicemen who have been traumatized (injured)
Firearms that have been confiscated

. Rounds of confiscated ammunition

. Kilograms of confiscated explosives

ComN ourwN~

-t

Exercise 6 3

Exercise 7

Al S\
ocoma -

Exercise 8 Yes

Yes
Yes
Yes

o0k wn -
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Exercise 9 1. To detain these people and hand them over to
authorities

Stopping and searching cars on the road
Because trains are not operating

No

o

Exercise 10 . BHYTpeHHMX
. ObcTaHOBKA
CMOXHOM

. ocobeHHO
HanageHus
3axBaTa
boenpunacos
normbno
U3DBATO

OXOTHUN\bElro

CoONo AN~

-t
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Dictionary

PesoTnaraTenbHo

B COOTBeTCTBUM C
BeAOMCTBO

BeCOMbIA

B3AUMMHDIA
B3AUMOMpPUeMaAeMbIi
B3rnsia

B3pbiBUATbe BellecTBA
BKAAA

BHeapeHMUe

BHECTU HA MNOBeCTKY AHSA

BO3MEeCTUTD
BO3HWKATD

BOCMPUHSATD

BbiBO A

rOHKa BOOpPYXeHUNR
OAaTYUK

AO0KA3biBATDH

3aBUCATb, 3ABUCHYTH
30BOEBAHUSA couManmMaMa
3QXuUraTtenbHbe cMecH
3AKOHOMEpPHO
3aceaaHue

3AaCNOH

sacayra

3AaXBATUTD

3Be3AHbIe@ BOMHDbI
na3buTo

M3MeHeHMue

M3bATUE

McnbiTaHUe
mccnenoBaHue

mcreub

KUHeTUUYeCKMM
KoaoBoe obo3HAUeHue
Kynak

NO3YHI

MOTYLWEeCTBO
HarHeTaHue
HaAeXHAs cuctema

without delay

corresponding to, in line with

department

ponderable, weighty

mutual, reciprocal

mutually acceptable

view, opinion

explosives

contribution

introduction, incorporation

to bring to the fore, to put on
the agenda

to compensate

to come into existence

to perceive

withdrawal

arms race

sensor

-to prove, demonstrate

to hover
achievements of socialism
incendiary mixtures
naturally

conference, meeting
roadblock

merit

to seize, capture, take
star wars

to beat, assault
change

confiscation

testing

research

to expire

kinetic

code name

fist

slogan

power, might

rise, increase, forcing
reliable system
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HA3HaJaThb
HAKANUTbCH
Hanuuo
HamepeHMe
HAMPSAXEeHHOCTDb
HavyanbHaAs craaus
HeBMelWAaTeNnbcTBO
HeNTOrMyHoOCTDb
HblHe
obecneveHue
obo3HAUUTD
obycnosnuBaTtbhcH
obbeAaUHSsIIO WM
obbickuBaATL
orHecTpesibHoe
0AHOCTOPOHHME Mepbl
oAaobpuUThb
OKP@CTHOCTDb
OMO3HATH
onpeaensiowmi
OCHALWEeHHOCTD

ocyuwecrBasieMbiit
OTKQA3dATbCH
OTKA3bIBATHL
OTMANYMBATbLCSH
OTpPAXATb
OXBATHIBAIO LKA
OXOTHUMUbE oOpYXue
OXpPAHA

ovar

napurteTr

NATpoH
narpynmMpoBaHue
APOHUKATDL
nepeaAnCNoLMUpPOBATHCS
NMUKeTUYUK
nospexXaeHHbIR
noarteepxXAaaThb
noavepkmBaTbCecs
nos3BoNUTD
NOKUHYTDb
noMeuweHue

84

to appoint, name, to set

to heat up, become hot

on hand, available

intention, purpose

tension

initial stage

non-intervention

illogical nature

now, at present

safeguarding

to designate, mark

to depend on

which unites

to search

firearms

unilateral measures

to approve

neighborhood

to identify

which determines

equipment level, being
equipped

carried out, accomplished

to refuse

to refuse

to keep silent

to reflect

including

hunting weapons

protection

cartridge

parity

cartridge, round

patrol

to penetrate

to displace, relocate

picketer

damaged

to confirm

to be emphasized

to allow, permit

to leave, abandon

location



nocenok
nocseaoBATesSIbHOCTDL
nocTpaadaswue
NOTOMKMU
npasonopsAaok
npeBOCXOAUTD
npeBpaATUTDb
NnpeAaoTBpaAWATL
npeaoTBpaweHue
npeanpuatTue
npeAaycMmatTpumearWmn
npeuvMyllecCTBeHHO
npenmyulecTBoO
npuBneveHue
npyuaepXmUBATbCH
npuneraiwmm
npuUcTYnNuUTb
npopBaATbCcH
npoTuBopevune

paBHoBecHe
pa3BepThBAHUE
pasauume
pasMmelleHHe
pasobpaTb
PA3bBACHUTD

painkom
pakeTa-ybunua

P AMKM
PACKBAPTUPOBAHHDI
paclwmMpeHne
pPaTHbLIA

PeMOHTHDbIM

pbvar
camMoaesnibHbIA
cCBUAETeNnbCcTBOBATL

CKSIOHATbCS
cKOauUBATH

CKOOP AUHNPOBAHHDIM
CKOMUTbCHA

cMbiCA
COBepLWEeHCTBOBATLCS

Reading Workbook 10, Dictionary

settlement, town

consistency

victims

descendants

law and order

to exceed, surpass

to convert

avert, prevent, ward off

prevention, avoidance

business, unertaking

which stipulates

primarily

advantage

bringing (to court)

to hold, adhere to

adjacent

to start

force one's way, break through,

opposition, conflict,
contradiction

balance, equilibrium

deployment

distinction, difference
placing

to dismantle, take apart
to explain

district committee

killer missile

limits

billeted

expansion

military

repair (adj.)

key factor

home-made (adj.)

to testify to, bear
witness to

to try to persuade

to scrape together

coordinated

to accumulate, gather

sense

to be improving (oneself)
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coKpawaTbCcs
cokpaweHue
COXpaHeHUue

CMAOMUYEHHOCTDb
crnocobcTBOBATDL

cTapTtToBas naowagka

CTeKno
CTOUMOCTD
CTOP OHHUK
cyrybo

cyuecrsoBaHuMe

TPABMUPOBATD

ybeauTenbHbi

ybexaeH
YBAXXE@HUEe
yronoBHbIA
yrpoaa
yaAapHbiA
YKpAcuTb
ycunmeaTb
YMACTHUK
YMUTHIBATD
ywepb
XpaHeHUe
wecTBue
PopcUpoOBATDL
vyacrokon
Yepecuyp
UUCNEHHOCTD
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to reduce

reduction, curtailment

preservation

solidarity, cohesion

to promote or favor
(something)

launching position

glass

cost, value

supporter, advocate

especially

existence

to traumatize

convincing, persuasive

convinced

respect

criminal (adj.)

threat

shock (as in "shock troops")

to decorate, adorn

to strengthen, increase

participant

to consider, take into account

loss

storing, keeping

protest march

to speed up

fence, palisade

too

number, quantity, strength
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Glossary of Acronyms and Abbreviations

ACCP (ABTOHOMHaA CoBeTcKkas

Coumnanmnctmnveckas
Pecnybnuka)

MBA (MuHucTepcTBO
BHyTpeHHUX Qen)

MTH

HPK (HapoaHas Pecnybnuka
KaMnyuus)

OoBA4 (OpraHunsauus
Bapwasckoro forosopa)

OOH (OpranHuzaums
ObbeanHeHHbIX Hauuit)

MKK (Nonutrueckuii
KOHCYnbTATUBHLIA KoMuTeT)

NPO (npoTuBopakeTHas
obopoHa)

COMH (cTpaTeruveckas
obopoHHAA MHULMATKBA)

CPB (Coumanuncruueckas
Pecnybnuka BoeTHaM)

Autonomous Soviet Socialist
Republic

Ministry of Internal
Affairs

Hungarian Press Agency

People's Republic of
Kampuchea (Cambodia)

Warsaw Pact Organization

United Nations Organization

Political Consultative
Committee (of the
Warsaw Pact)

anti-missile defense

Strategic Defense
Initiative

Socialist Republic of
Vietnam
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Workbook Test
Materials needed to take the workbook test:
Subcourse booklet, a #2 lead pencil, and an ACCP Examination Sheet.

Instructions:

There is only one correct answer for each item. Mark the correct answer for
each item, then transfer your answers to the ACCP Examination Response Sheet,
completely blacking out the lettered oval which corresponds to your selection (A
B, C, or D). Use a #2 lead pencil to mark your responses. Mail the response
sheet in the preaddressed envelope provided.

Unit 46

Read Text A and answer Questions 1-4.

Text A

BYXAPECT, 7 mions. (Cnen. | gue npo6remut. Cpeau wnHux
xopp. TACC). B cromuue Co-i ponpocw empomefickofi ¥ Bceob
unasucrideckot Pecny6nukxu wmest Geaonacnocrs, zannHeit.
PyMuuuu cerogns Hauano pa- WIHe wark  no JHKBHAALMMN
6oty ouepepnoe cosemanue Ilo- sAAepHOro M XuMHYecKoro opy-
JMTHYECKOTO KOHCYNLTATHBHONG XKHS, CYIUECTBEHHOMY  COKpA-

KOMHTETA TOCYRapCTB — y4a- WIEHHIO BOOPYMKEHHBIX CHJI R
crHHxoB Bapmasckoro [foro- Boopyskerwi. O6ecyxaalores
BOpA. - TaKXe BONPOCH, KAacAOUIKecs

Ha cgsemanun  IIoJMTHYE-, RanbHeRiero pasBuTHA H  co-
CKOro KOHCYJALTATMBHOIO KO- BEDUICHCTBOBAHUSA COTPYAHHYE-
MHTeTA, KOTOPOE NPOXOXHT B/ CTBa COIO3HHIX FOCYAApCTB B
armochepe APYMOH, 'ronapn-lyc.nonuxx HOBHIX peaabHOCTeN,
WECKOro AEIO0BOro COTPYAHKYE.|CKIaxMBalomuxcs s Espone u
CTB8, DACCMATPHBAIOTCH AKTY- B MHpe.
anbHHEE esponefickue H MHPO-

1. What kind of meeting does Text A report on?

a. An extraordinary meeting of the Warsaw Pact Southern
Forces Command

b. A meeting of top East European military leaders

c. A US/Warsaw Pact conventional arms reduction meeting

d. A meeting in a series of Warsaw Pact Political
Consultative Committee meetings
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2. Which of the following words is NOT used to describe the
atmosphere at the meeting?

a. Friendly

b. Comradely
c. Diplomatic
d. Businesslike

3. What nuclear weapons-related issue did the meeting discuss?

a. Renunciation of first use of nuclear weapons

b. Steps to eliminate nuclear weapons

c. Nonproliferation of nuclear weapons

d. Phased withdrawal of nuclear weapons from Europe

4. According to Text A, the meeting decided that cooperation
between Warsaw Pact members should

a. be extensively developed and improved.

b. recognize present-day realities facing the world.

c. be both economic and political.

d. strengthen the socialist countries' fight against capitalism.

Read Text B and answer Questions 5-10.

Text B
O PEOPrAHH3AIIHUHU YHA

NPATA, 19 niona. (TACC). wenume rtpeGoBaua xax Rno  ycrpoficrse, »xusibe. Bce aru
B uurepsso arenrcrsy UTK  ypomuwo Goesot  roromkocTH, BOnpock pPeWaloTCRK B COTPYA-
MHHHCTP HauwoHaasHOR 06o0- TAK X no xavecrsy OGoesofk m HHYECTBe ¢ NAPTHHHLIMH M ro-
pousl YCCP renepan apmun M. noaurTuveckoff NOArOTOBKH. CYRAPCTBEHHLIMM OPraHaMK.
Baunasyuk oTMeTRA, 4TO 06BAB- Peoprauusauna 3a8TpONET Byayr CHATHB ¢ BOOpYIeHHA
JeHHAs peoprauuzanua ‘Jexo- oxono 30 Thic. uenomex. B 850 ranxos u 165 Gpomerpanc-
cnosaukoit HapogHoX apmum 19891990 roaax ona xocHer- noprepos. YacTh M3 HHX Rpea-
OCYWISCTBJIRETCA € YueTOM Bu- ¢8R 4.000 BoeHHOCAYMAmMX ¥  NOJArAaeTCA MCNOJALIOBATL B
nonuenun ofazartenscrs » paM- oxono 900 cayxaumx. IIpo- mapogmom xoasficrse — sec-
xax Bapwanckoro [loromopa. 1necc COKpalIeHHA NHCAENHOCTH  HHHeCTBE, e0JOropa3BefOYHBIX
Hamna apMus, NOZANEPKHYN O, AapMui — cnroxuax pabors. He- paborax. Ocranuume 6yayr or-
HAXOAHTCA HA mnepeaHeM pyfSe- o6XOAHMO NOAPMOTOBHTL HOBHE  HpABJEHW HA Nepenaasky. B
xme obopormt  O6veauHeNHHX  pabouue MeCTa ANR YBOJABHAG-  HacTOSmee BpeMs orpabarnisa-
BoopyseHHmX cHa OBJl, 4ro  mMumx » 3anac, NMO3a6OTHTLCK O  €TCA TEXHONOTHR  YHRYTOXe-
npeAsABIRET x Helt nomu- HX NepeKPANHPHKAUNK, TPYAO- Husa GoeBolt TEeXHMKH,
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5. What military news does Text B report?

a. Changes in the Czech military leadership

b. A promotion within the Czech military command
c. A major reorganization of the Czech army

d. Planning of joint Czech-Polish military exercises

6. What does General Vaclavik say about the Czech army?

a. It is at the front line of Warsaw Pact defenses.

b. It plays a pivotal role between northern and southern Europe.
c. It bears an unusually high share of the defense burden.

d. It will retain its efficiency despite cutbacks.

7. What special demands must the Czech army meet?

a. Maintenance of alpine special forces units

b. Organization of defense of the Danube River
c. Backup defense of Poland and East Germany
d. Higher levels of military preparedness

8. What does Text B say about manpower in the Czech army?

There will be an increase in the number of troops.

There will be an immediate reduction of 30,000 men.

The first step will affect 4,000 soldiers and 900 civilians.
Reorganization steps will take effect after 1989-1990.

coow

9. What else must the Czechs do to prepare for the changes?

a. Plan training and jobs for those being discharged
b. Increase the number of training centers

c. Order new barracks, equipment, and uniforms

d. Prepare new strategy and order of battle plans
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10. What changes will occur in military weaponry?

a. There will be no changes.

b. The Soviets will supply new tanks and personnel carriers.
c. Czech and Polish units will now share some weapons.

d. The army will retire 850 tanks and 165 personnel carriers.

Unit 47

Read Text C and answer Questions 11-15.

Text C
MOTEHUHAN ATPEGCCHH
B PACIIODHAIKEHHH BEDXOBHOIO CAaBHOMY KOMAHJOBAHHIO

raasHoro koMaHnaosauna HATO HATO s Espone noaunuenm
8 EBpone B nauase 80.x ro- Takxe MobuAbHLE CHJBLI, npei-
XOoB MMesoch: 94 auBuHaun (B nHa3HAMEHHME Aad 6nicrporo
3KBHBAJICHTHOM MCYNCNEHUH, BMeIIATeNbCTBa B J060l XoHD-
¢ yuerom cun HMcnanun) cyxo- JIHMKT, KOTOpPhlit MOXKET BO3HMK-
NYyTHHIX BONMCK, B TOM 4HCAE HYTh Ha 2TOM M IDYTHX Tear-
15 ranxkoBnIix; ©O6onee 4 THIC. paAX BOGHHHX nelicTauil.
CaMOJIETOB TAKTHYeCKOi asua- _Ofmaa uyncaeHHOCTL BOHCK
uMK, 6asupylommuxca ua 150 crparm—yuactunn Esporpynnut
aspoapomax; cBuwme 17 toic. HATO, no csunerennscrsy mu3-
TAHKOB; OKOJO ' 12 ThIC, Opy- QA&HHOI rocaenapTaMeHToOM
auii ¥ munomeros; Gosnee 1.800 CIUA Gpommopu «O6opona Es-
NYCKOBLIX YCTAHOBOK 3EHMTHMX  poitms, cocTaBaser 1.850 Tmc,
ynpaBaseMuX pakeT M apyroe uenopex. OHM HMeIOT Ha BO-
BOODYIKEHHE, - opyxenun 10,4 . Thic. 60eBHX
Ha cxraanax, pacnoioxeH- tauxos, 10 Tuic. apruanepnit-
HRIX B 30HE KOMAaHNOBAHHA- CKUX CTBOJIOB, 2,3 ThC. GoeBuIx
of0beIMHEeHHAX  BOOPYIKEHHHIX caMojeros, 730 BOEHHBIX KO-
cun HATO B Espone n Typ- pabaeit u 120 nmoaBozHEIX Jo-
uHyn, paMemieHo cswime 7 ThIC. ROK. B MupHoe Bpemsa eBpojleii-
anepunx Goenpunacos; uMe- CcKue coloannku CIHA o6ecne-
erca Gonee 2.800 pasauyHmx 4HBaOT okoao 90 npou. cyxo-
CPexCTB HX NOCTaBKH —— CaMO- MNYTHRIX CMJa G6Jjoxa, pacnojo-
JIeTOB, paKeT, APTH/JIEPHIACKHX JKeHHBIX B 3anaxaunoit Espone,
opyauit, nossoaswomrx Bectds 80 npou. Soemnx caMoneToB M
crpeanrby cHapsiaMH B saep- TaHkoB u oxoxo 90 nponu. Gpo-
HOM CHapAMXeHuH., BepxoBHOMY HeTAHKOBHIX AUBHM3HIL, .

11. Where does the article get its figures on European NATO forces
from?

a. KGB sources

b. A US government brochure

c. European government sources

d. Commercial defense industry publications

92



12.

13.

14.

15.
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According to Text C, how many antiaircraft rocket launching
facilities does NATO have?

More than 1,800
12,000
More than 4,000
17,000

aoop

According to Text C, where are NATO's 7,000 nuclear weapons
located?

a. In Europe

b. In the US and Europe

c. In Europe and Turkey

d. At US military bases in Europe

What statement does Text C make about NATO's rapid
deployment forces?

a. Their numbers are rapidly increasing.

b. They are available for non-European theaters of action.
c. They have nuclear weapons.

d. They have new deployment capabilities.

What percentage of NATO's European-based ground forces do the
European allies furnish?

65
73
80
90

aoow
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Read Text D and answer Questions 16-20.

Text D

HepnasHo npoBegeHHOe YyeHue
OBMC HATO «AMepuxano-6axa-
Thiickax onepaumua-89s 6uin0
NOCBRAiIEHO OTPaboTKe NpPAaKTH-
YeCKOTO MCHONL3OBAHKA BOEH-
HO-MOPCKHX CHJ B COOTBETCTBHH

pourms, B nponecce yuenus
6hina OCYIIeCTBJAEHA NPOBepKa
naaHos ycuaenuns OBMC HATO
» 3oHe Baarmiicknx npoamsos
aMepHKAHCKO paKeTHOR yaap-
Hoit rpynnoit. Ilpu arom pewan-
CR Uenblil KOMNJEKC 3ajaY: Ha-
HeCeHHe PAKETHHIX, TOPHegHBIX
® G6oMGORO-IUTYPMOBHIX YAARPOR
no xopaleNbHHIM  IpPYINKPOB-
xam 3 Baaruitckom Mope, 06o-
poHa 3osm Baartritcxux npoam-
BOB € BOCTOYHOr'O HANDABJICHHA,

¢ Kouuenuueil snepeposoit 06o-

OCBOEHHE TeATPA BOEHHMLIX Aeli-
CTBHIY AMEPHKAHCKHMH Kopab-
AAMHM.

B yuenuu «Anmepuxano-6ai-
THilckax onepauusn-89» npunsa-
AR yvacTHe B ob6miell CJI0KHO-

.CTH okoao 20 HAZBOAHBIX KO-

pabaeir, a Taxkxe a0 80 cawmo-
NeTOB TAKTHYECKOHt M 6a3zoBoit
narpyabHoik asnanuu OPT, Ma-
Huu ® CIA. Axepuxanckue
BMC 6max npexcTasneHsl JAHH-
KopoM <AfioBas, Kpeficepon
YPO «Tuxougeporas» u opera-
roM YPO «Qaxpuons.

IIo omeHke KOMAHAYOULEro
OBMC HATO » 3ome Banruit-
CKHX NPOJHBOB, OCYLIECTBJAR-
mero ofuiee PYKOBOACTBO, MA-

‘HeBpPH NPOUIAX yCHelHRo. A BoT

" Hanpumep,

«AmepHiano-OanTuicxan onepauus-§9»

YTO KACAeTCHA HACTPOEeHHH 06-
LIECTBEHHOCTH, TO 3eCh MHhIe
Baraags. O6 aTOM CBHAETENLCT-
BYIOT MHOrOYHCJEHHBle npoTec-
TH Tex, KTO NPOMHBARET HAa
Banrtuke u TpeGyer nmpespaTHTh
ee B peruoH mupa, I'ox or roza
3TH TpeGOBAHHR DA&JIZANTCH BCE
rpoMve H rpomMdYe, M HATOBCKHM
cTpaTeraM NPHXOAHTCA C ITHM
cuurarbca. Pykosojcrao 6aoxa,
YYHTRIBAA HOBYIO
06CTAHOBKY, 6HJO0 BHRYXKAEHO
YMEHbIIHTL N[O CPABHEHHIO C
NPeALIAYIIAMK TORAMH KOJAKYe-
crBo Kopabiseil, NPHAHMABLIINX
YYACTHEe B Y4YeHHH.

Yro mx, 9TOo Henaoxolt cumn-
TOM. Kanuran 2 pamra

9. BOJOIMEHKO.

16. According to Text D, what concept underlies the NATO exercise?

a. Measured response

b. First strike

c. Forward defense

d. Strategic redeployment

17.

What aspect of NATO military planning did the exercise test?

a. Reinforcement of naval units by US attack rockets
. Use of rapid deployment forces
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b
¢c. Combined land, sea, and air reinforcement
d. Creation of a Baltic naval task force led by the USS lowa




18. The operation described in Text D included all of the f

EXCEPT

Qaoow
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defense of the Baltic Straits from the east.
control of the theater of operations by US ships.
minelaying and underwater demolition by frogmen.
sea-launched rocket, torpedo, and bombing attacks.

How many of the ships in the naval unit were American?

ollowing

According to Text D, what circumstances forced NATO leaders to

the operation?

19.
a. Two
b. Three
c. Ten
d. Twenty
20.
change the scale of
a. Bad weather
b. An explosion on the battleship lowa
c. Warsaw Pact objections
d. Public protest
Unit 48

Read Text E and answer

Questions 21-25.

Text E

NPArA, 28 mimapa. (TACC).
3nech 27 mmupaps obvnsBneno pe-
wenne Cobeta oboponnt 9CCP o
coXpameRMn YexocnoBamxod Ha-
POAHOH apMIM M BOOpYKeHMt, a
TawKe 06 OpraPFM3amNOHALX W3Me-
Hemmax 8 YHA. 310 pemenue
NPMEATO B COOTBETCTEMM ¢ o6o-
PORHOX BOGHAON JOKTPMROH ro-
CYRApCTE—YYaCTHMKOB  Bapmae-
cxoro oroeopa. Omo mpegycma-
TPNB2eT nNpOBEJERME COOTEETCT-
BYIONNX MEDOMPMATHH B  1989—
1990 ropax.

B pacnpoctpanentoM no sromy
NOBOAY  3aABNEHHM  MORYUEPKH-
BaeTcA, YTO TeM caMmM 4YCCP
MPMCTYN2ET K NOCNENOBATENbHOMR
PeanM3alM CBOLK MHMUMATHBH O
CO3NaHMM 30HN NROBEDMA, CoO-
TPYRHMMECTBa K A05POCOCERCKMX
OTHOWEHKHA Ha NWHUM COMpHKOC-
HOBEHWH FOCYLapCTB—Y4YaCTHWKOB
Bapmasckoro [Mlorosopa # crpan
HATO, npucoennnseTcsa x npenno-
wenusm CCCP, nanowenHsM g Bbi-

crynnenu M. C. Topbauesa na
ceccuyu lenepannHolt  Accambnen
OOH.

Nramupyerca  coxpaturs pac.
XORH Ha obopoHy 3 1989— 1990
ronax ¥a 15 npou. Ha 12 Thic. Chy-
xaerca uucnewwocts YHA, C so-
ODYIKEHNR CHMMAIOTCR X  nocTe.
NeHHO JNMKBWIMPYIOTCE 850 Tam-
Kos, 165 Gpowerpawcnoprepos n
51 Goesofl camoner. _Boopyxesne
U TeXHuKa Tpex -obleBONCROBLIX
Rueuii GyRyT 3axoncepswpoBamum
Ha ciianax. B atmx  pmusunx
OCTaHeTCR AL NWYHLIA  cocTas,
Heobxomumbi fns oxpanm wMyule-
CTE2 M NOANEDKMIMA TOPARKD,
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21. The military changes mentioned in Text E will take place as a
result of

a. budget cuts.

b. a change in the deployment of Warsaw Pact forces.
c. Soviet troop cutbacks.

d. a new defensive military policy.

22. According to Text E, which of the following will happen in
1989-907?

a. Soviet troops will replace Czech troops.

b. East German troops will replace Soviet troops.

c. The Czech army will undergo troop and armament reductions.
d. NATO European Allies will begin their troop reductions.

23. What are the cutbacks in Czechoslovakia a response to?

a. Financial pressures

b. Gorbachev's speech at the UN

c. An enlightened attitude in the West
d. Present-day political realities

24. How will the Czech defense budget change during 1989-907?

a. It will decrease by 12%.
b. It will increase by 12%.
c. It will decrease by 15%.
d. It will increase by 15%.
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25. What will happen to the tanks, personnel carriers, and military
aircraft mentioned in paragraph three?

a. There will be a 12% reduction in their numbers.

b. The government plans to sell them to Third World nations.
c. They will be overhauled or refitted.

d. They will gradually be destroyed.

Read Text F and answer Questions 26-30.

Text F
BbIBOJ COBETCHHX  roponexux opranos, s sasmme —

Boiicka Ioasckoro. .

~

Bu"m{ 3pyuar rocyaapcTBeHHEIe
ramMant CCCP n ITHP. Murunr
Bunoanaa pemesms Coser- OTKPRIBAET 4J€H BOEHHOro CO-
ckoro Cow3a 06 OQHOCTOPOH- pera —— HAYANEHMK HOJMTHYE-
Hem cokpamlenun BoopykeH- cxoro ynpasnemus Ceseprofi
anx Cua CCCP, no coraacoma- rpynnn Bofick reHepas-meiTe-
HHIO ¢ npaBHTENLCTBOM IToab- yaur K. Turos. Or oTmermn,
ckoit Hapoznoit Pecny6auku 15 yrq HAYaNO BHIBOAA YACTH CO-
HIOHA HAYAJCH PHBOX  HACTH perckux BOfICK C TEPPHTODHMH
coBerckix soiick u3 IIHP. Hlep- [THP — 310 emwe oamo mnoa-
Boit -oTnpasunacs ma Pozumy Teepxaenne crpemnenna CCCP,
nepenosas 3 CeBepro#t rpynne 6paTCKHUX CTDAH COKHAIHAMa Ha
BoOiiCK BOHHCKAA YaCThb -— OT- oCHOBe HOBOTO TIOJHTHUYECKOTO
AeNbHBIR aBTOMOGHIABHBLIE  68- pyunrnenus ocnabuTh BoeHHOE

TanboH, KOTODHM KOMAHAYET pporuBocTosEMe B EBpore.
noanonxossuxk B. Jlnicawenko. BHCTYNHBIINE HA  MMTHHIE
*B 3TOT REHbL COCTOAJINCH TOP- MONBCKMe TOBAPMIMM moGaaro-
ECTBEHHbIE MPOBOALI JIMYHOTO ABPHJIH COBETCKHX BOMHOB 38
cocrasa. Ha Murumre noascko- 6e§xopucrnylo YeCTHYI0 BO-

’

COBETCKOH ApYKGM, cocTosB- uECKylo cxym6y, 38 206poco-

meMcA 1 0 8
cyrcrnon:n:r x::a:::xzx’aen%t BeCTHO BMIOJNHeRRMA mirep-
HARMOHAJBLHHA M  BOHWCKHIl

BepHoit rpynns pojfick, mpeAcTa- Xoar.

26. Lysachenko's role in the scene described in Text F was that of

commander of the Soviet Forces in Poland.

the first vehicle driver to cross the border returning home.
commander of the first military unit to be withdrawn.

the Polish officer who bade farewell to the Russian units.

paoowe
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27.

28.

29.

30.

98

What kind of final event marked the beginning of the
withdrawal?

a. A flag-lowering ceremony

b. An official change-of-command ceremony
c. A Polish-Soviet friendship meeting

d. A high-level Warsaw Pact meeting

T

hose who attended the final event included all of the following

EXCEPT

a. Polish military personnel.

b. Soviet Foreign Minister Shevardnadze.

c. Polish Party officials and local politicians.
d. Warsaw Pact military leaders.

Who opened the withdrawal celebration?

a. The Polish Warsaw Pact Northern Region commander

. Titov

b
c. The Soviet Southern Military Group commander
d

According to the opening speech, what did the withdrawal

d
a

b
c
d

. Lysachenko

emonstrate?

. Soviet attempts to lower military tension in Europe
. The Warsaw Pact's new military doctrine

. Brotherly socialist cooperation in military matters
. Warsaw Pact flexibility
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Unit 49

Read Text G and answer Questions 31-33.

31.

32.

33.

Text G '
COM — yronun

«llpepacrasnenus Guisiero npe-
3ufienta CIUA PeifraHa o Bo3MOXK-
HOCTH 33UWHTHI BCEro aMepMKaH-
CKOTO HacCeleHA OT AAEPHOTO No-
P3XEeHUs C TNOMOMBI0 CHCTEMH
npoTusopakeTHo# oboponn (COM)
— 3TO yTOMWA»,— 3afABUN Cerof-
HA BO BPEMA CNYWaHKH B CeHaT-
CKOM KOMKTeTE no fienaM Boopy-
MEHHBIX CHI  MHHUCTD OGOPONH
Joxon Tayap.

BbiCX2323BWHCH NPOTHB yTONHYE-
CKOH «CTpaTerudeckoi obopounoi
MHKMUMATHSBI», Tay3p oOfHOBpe-
MEHHO PaToBad 33 XWMWuecKoe
ooymue. Mo ero muewmo, ANK
CIIA gpessuraiiio BawHO Mopep-
HMMSHPOBATh 3TO CPEACTBO Macco-
BOTO YHWMTOMEHHMA, KOTOpOe Jof-
JKHO OCTaBaTBCA B aMePHKAHCKON
apDMUK 0 3aKNIOYEHHR ROTOBODA O
ero  eceoSiuem 3anpemeHun.,

To whom did John Tower speak about SDI?

a. The Joint Chiefs of Staff

b. The president

c. The news media

d. The Senate Armed Services Committee

What was John Tower's attitude towards SDI?

a. He opposed it.

b. He supported it.

c. He felt it needed more research.

d. He favored it as an integral part of a complete defense.

According to Tower, what type of weapon needs modernization?

a. Biological
b. Chemical

c. Nuclear

d. Conventional
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Read Text H and answer Questions 34-37.

Text H

(Tace). _CoeAaMHeHHbie WTATH M
AAOHUA BAUBKK K COFNAWEHUIO ©
COPTYAHUMUSCTEE® B  pPAMKAX
nporpammbl COU—TAK NPOKOMEH-
TUPOBANA BAMBKARA K BOEHHO-
NPOMBIWANEHHbBIM KPYraM raseTda
«[UPEHEC HbIC» NPoxXoASWNUHA B
BAWMHIFTOHE® ueTBepThit payHAa
AMEPUKAHO-ANOHCKMX MeperoBopos
Nno BbpaboTke cornaweHusa ob
_YMACTUM INOHUU B «CTPATErUueCKoi
OBOPOHHOM UHUUMATUBE». CTPEMACH
UCNONb3OBATD HAYMHO-TEXHUUYECKUM
MOTeHUMAN CBOUX COK3HUKOB ANA
CO3ACHUA WHUPOKOMACWTABHOM
cuctemn MPO_ ¢ 3NeMeHTAMM
KoCMUMeckoro BasuposaHus, CUWA
y¥e noanucanu ToKoro poaad
COrflaWweHUua ¢ BenukobpuTaHue,
®Pr, UTANUER, K U3pannem.

A Mexay TeM NeHTAroH, popcupya
paboThl B pamkax COW, NpoaomaeT

A3Ad4BATL KOHTPAKTbH HA paspa-

OTKY ' PABNMUHDLIX CUCTEM KOCMMMVE-
CKOIO OPYHUA CBOWM MOAPRAMMKOM B
CUWA. © CBUAETEeNbCTBY «AUPeHC
HbIOC», BOSGHHOE BeaAOMCTBO CUA Ha
AHAX NpPpeAaoCTISUMANO Kopnopaumu
«POKYeNN UHTEPHS3WHMA» ABA KOH-
TPAKTA HA CyMMY 338 MH. A0NNUPOB
HA «co34aaHUe, paspaboTky U neT-
Hble UCMBITAHUA CHUCTEM KMHEeTUYeC-
KOIro OpyXma», Peub MaeT o cnucteme,
BKAlOVAKOWeEr B cebi MHOMeCTBO
HeBbOoMbWUX pPAKeT-MepexeaTumKos,
KOTOpble NAAHUPYETCA pPASMEeCTUTDL
HA OPBUTANBHBIX NAATH OPMAX.

34. What kind of agreement are the US and Japan negotiating?

a. Military cooperation
b. Trade

c. Arms sales

d. Foreign aid

35. What kind of support does the US hope other countries will
provide in the development of SDI?

a. Financial
b. Political
c. Technological
d. Industrial

36. Rockwell International Corp. is under contract to develop

launch systems.
testing systems.
simulation systems.
weapons systems.

Qoo
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37. Text H describes the systems that Rockwell is developing as

. weapons to be mounted on orbital platforms.

a
b
c. laser weapons.
d

space-based infrared target tracking systems.

Read Text | and answer Questions 38-40.

Text |

200 KOMNAHUMA, 50 YHUBEPCUTETOB,
MHOMMEe MNPABUTENbCTBEHHbLIS BEAOM-
CTBGQ, B TOM MMCMe MUHUCTEPCTBA
BBC u BMC CUA, a Takxe
OpPraHM3aUUA MO OCYWeCTBASHUIO
«CTPATErUYecKo OBOPOHHOM UHU-
UMATUBLI» 3AHUMAIOTCA Cceiuvdac
npobnemMamu, CBA3AHHLIMKM ¢ pa3pa-
pOTKOM TexHosMorun aAna runep-
3BYKOBOIO a3POKOCMUMECKOro CaMmo-

«Llenb NPOrpamMmbl COCTOUT B TOM»—
3aseun P. bapTenemMu,—uTobb pas-
paboTaTh TEXHONOrMI, KOTopas
oKa}eTcs HeobxoauMON NpK
CO3AA0HUM B3KCNEePpUMEHTAbBHOM
MOWMHBE X-30». [0 ero oUueHKaMm, B
1994 roay, BO3MOXHO, YAACTCA
NPoBeCTHU AGMOHCTPAUMOHHbIM NoneT
¢ rMNep3BYKOBOM CKOPOCTbIO, O B
1996-M—BbIBECTU CAMOSIET HA OPBUTY.

neTta. OB 3THx paboTax coobwmn Ha
npecc-KoHPepeHUMn AUPEKTO
nporpamMbl P. BapTeneMu. Tako
caMoneT AofMmKeH byaeT B31€TAT €
OBbIUHbIX A3pOAPOMOB, HABUPATL B
aTMocPepe CKopocTb, B 23 pas
NPeBoCX0AAWYIO CKOPOCTb 3BYKA, W
BbIXOAUTb HA OPBUTY BOKPYr 3€MNN.

38. What kind of equipment does Text | describe?

a. An orbiting rocket platform
b. A supersonic unmanned aircraft
c. Heat-seeking rockets

d. A hypersonic manned aircraft

39. The program's technology will also be used to

a. decrease aircraft vulnerability to radar detection.
b. improve supersonic aircraft capabilities.

c. develop and produce the experimental X-30 craft.
d. improve electronic and radar detection systems.
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40. By 1994, the planners hope to achieve all the following EXCEPT

a. development of a rocket-powered plane.
b. placement of a supersonic plane in orbit.
c. flight at hypersonic speed.

d. production of a superfast plane.

Unit 50

Read Text J and answer Questions 41-45.

Text J

o6tasnena sabacrosxa » Cy-

Kax coobuuan yrpom 20 XYMCKOM  JIOKOMOTHBHOM Xe-
monx xoppecnonaenry TACC no. Jeneamozopomamre co-
H, Jlemupaosy 3 onepaTEsmOX crasm ofcayxusaorca npu-
mrabe MBA CCCP, obcra- KOMBHAHPOBAHHLIMK OpHraga-
mosxa 3 AbGxaackok ACCP MH. .
ocTaerca manpamenmoit. B Pemeunen Comera Munucr-

Tyasprmmexod, Ouamumpexox
x Cyxymcxox pafionax npo-
HCXOAMJIK OTAGAMHLIE CTOJKHO-
BOHHR HA MOYBE MEeMHAINO-
BHaaeHOMR DPOSEM ¢ INpUMeHeNN-
eM OrHeCTpeanHOro opymxus. Ha
TPACCAX NPOACAMAIT  TNOAD-
ARTHCK MBOIOYMCJICHERE BO-
OPYMEeHHERE IINKEThI,
Tlo-npemueny » Cyxymu ne
paboraer GOIBUIMHCTSO npex-
npuxTHi, nepesoaka rpyao» no
rOpPORY OCYIIeCTRANETCA B CON-
POROXACHER paboTEHKOS MH-
Imuun. B revenne mmmymmnx
cyrox ua Cyxymcxoro aspo-
nopra cnenpeitcaMx ornpas-
aeno 1.490 venomsex, Baoms

pon Abxasmum o ocoboro pac-
NOPXMEHUN B pecnybanuxy
NPEXPAINEH NpPHeM  OTALIXAN-
IHX, COBETCKHX M MHNOCTPAR-
HHX TYDHCTOB,

3a Hapywemse ocoboro pe-
EHMA NOBEAEHHN 3AACPMAREL
TPUALATS MEJOBEK.

Cnoxuolt ocraerca obcra-
mosxa M 3 Ipyanu. 3aduxcu-
POBARE HADANCHMA HA nNoxpas-
ACERHR OPraHOB BHYTPEHEMX
ReX ¢ Iensl0 3AXBATA OPYIKHSK.
B ropogax Xamypm, Camrpe-
AN COCTOAJIMCH NeCARKINO-
NXPOBAHMLIE MUTHEIR € yua-
CTHEM HROCKOABKKX THICEY ve-
AOBOX, i

41. According to Text J, what kind of incident occurred in
Sukhumi region?

102

a. A drunken brawl
. A fistfight that escalated into mob violence

b
c. Arson and looting of shops
d

. An armed confrontation between ethnic groups

the



42.

43.

44.

45.
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According to Text J, what did the authorities do to control the
situation?

a. Arrested ringleaders and many demonstrators
b. Put armed military patrols on the streets
c. Searched houses and confiscated weapons
d. Set up roadblocks on major roads leading into the city

Which of the following was NOT true of the situation in Sukhumi
prior to the latest outbreaks of violence?

a. Most of the businesses had closed temporarily.

b. Workers' militia groups were escorting truck transports
through town.

c. Municipal workers had stopped collecting garbage.

d. The Sukhumi locomotive depot had announced a strike.

How does Text J describe the situation in neighboring Georgia?

a. The resorts are still open to Soviet and foreign tourists.

b. The airport is allowing outgoing flights only.

c. There is some unrest, but it is under control.

d. Civilians are attacking local security forces to steal weapons.

What are the Abkhazian authorities doing about the situation?

a. They have imposed martial law and no longer accept tourists.
b. They are arresting troublemakers.

c. They have rounded up troublemakers and are flying them out.
d. They are breaking up public gatherings with force.
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Read Text K and answer Questions 46-50.

46.

47.

104

Text K

CYXYMH, 20 uwons, (Kopp.
TACC). B kypopruom Cyxymu
HA YJAUUAX HEMAJ0 OTABIXAN0-
IKAX, He NYCTYOT NAAXH. 3a-
MONHEHN CANATOPHM, NAHCHO-
HATH.

H »ce 370 He TOoT Cyxymu,
KakuM Onizaer oM o6mvuyHO B
pasrap ceaona. Eiue Ha noa-
nere x CyxymckomMy asponop-
Ty o6paTHAH BHHMAKHe Ha Ma-
AYI0 OMKHBIEHHOCTS “EPHOMOP-
ckoit asTomMarucrpann. Buzgu-
Muft auccomanc Geamaremuo-
CTH  NpHpOAN — NOABJERHe
COJAATCKOrO NATDYJAA Ha ro-
POACKHX yaunax, Ha Habepex-
Hoft. Popma opexam — K-
nuposxa aasn vypessniuaknoft
OGCTAHOBKM ; GpoHemunerst,
KaCKH, asroMaTH. Mla u no xo-
JAKYECTBY aOgelt sero Moxmer
CPABHHTBCA ¢ 3RMHe nopoit.
Ceroana na-3a cnommocTe x
HATIpstIREeHHOCTH obuiecTaenno-
Nonurnuecxoft obcranosxu
Orpaniten 3aeax OTALIXAOIIHX

6aani. Tex, KT0 yXe npomoguT
cBoft oTnyck, 3TH OrpaAHHYEHHA

. He KOCHYJHCBH.

Yersepruft geHs Me pabora-
10T GONBUIKHCTBO RpenNpHATHHA
roposa, 3 TOM YHCJe H B Coe-
pe ofinecTBeHHOro NHTAKMA,
He QyRKIHOHMpPYer obuleCcTBeH-
HuR H  )ReJe3HOZOPOMHEIR
TPAHCNOPT.

Ha Bcefi reppuropuu A6xa-
3HH B HOYHOE BpeMa BBeAeH
ocobnilt PeXHM  NOBEACHHA
rpaMaaH, B TeueHHe KOTOpOre
OrPaHHYEHO HAXOXAEeHHe Ha
yauue. 3anpeujaerca nposege-
HHe MHTHHroB M mectsnii,
BCEM TrpaXAAKAN NpeANoXKeHOo
caaTth n106oe MMelowreecs y
HHX OpYyXHe.

Baaropapa cosMecTHMM yCH-
AKAM COBETCKHX, RNapTHAHBIX
OPraHOB NpPH AKTHBHOM  y4a:
CTHH BOEHHOCNYXAIIUX BHYT-
pennnx sofick MBJl CCCP mo-
nomenre » AGxasuum NoHeMHO-
ry crabunusupyercs,

Ha XypopThl AGxasus, B caHA-
TOPHH, AOMA OTAMXE, HA Typ-

Signs indicating that the situation in Sukhumi is abnormal
include all the following EXCEPT

roadblocks on major highways leading into the city.
armed patrols on city streets.

very light traffic on the Black Sea highway.

lack of tourists.

Qaoop

What are the local military equipped with?

a. Tear gas and water cannons

b. Bulletproof vests, helmets, and automatic weapons
c. Batons and plastic shields

d. Riot-control vehicles and movable barricades
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48. According to Text K, what is NOT functioning within Sukhumi
itself?

Water and electricity supplies
Television and radio

Public transportation

Banks and post offices

aoow

49. According to Text K, how extensive is the curfew?

It applies to Baku and Sukhumi.
It covers major cities only.

It applies only to Sukhumi.

It covers all of Abkhazia.

oo

50. What was the populace advised but not commanded to do?

a. Stay off the streets.

b. Turn in any guns.

c. Listen to news broadcasts.
d. Go about normal business.
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